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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231223
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662316015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the wrorg term in the given letter series,

i, T, oL, Dy, BY
Options:
1. % ¥V
2. % BV
3. ¥ CL
4. % D

Question Number : 1 Question Id : 9662316015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ey T S et 7 e ST Tl
iV, T, oL, Dy, BY

Options:

1. % ¥V

2. % BV

3. ¥ CL

4 % 1D

Question Number : 2 Question Id : 9662316016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the given series.

E D ?*FFL
Options:
1. %G
2. %]
z. ¥ H
4 % ]

Question Number : 2 Question Id : 9662316016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
ST TS el H F{H Ug @1 AT we

E.L.?FFL
Options:



1. %G
2 %1
3. ¥ H
4 % ]

Question Number : 3 Question Id : 9662316017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the next term of the following series.

A1 F11, K121, F1=221,
Options:
1. % 1J1321

2 % V1321
3. ¥ 1J14641
4 % V14541

Question Number : 3 Question Id : 9662316017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR T =T &7 ST 0 ST F

A1, F11, K121, F1=321,
Options:
1. % 1J1321

2. % V1221
3. ¥ 114641
4. ® V14541

Question Number : 4 Question Id : 9662316018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
term

Beer @ Glass  water : 7
Options:

1. ® Tank

= ¥ Bottle

3% el

4. % River

Question Number : 4 Question Id : 9662316018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=9 Terpe T e B ST e UG I FR | Haled e WET | UgET ug gl ug | Helldd gl

O W U 7
Options:
1. % Zdhr



2. ¥ Figd
3. % e
4 ® a7

Question Number : 5 Question Id : 9662316019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ot of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % Hoot
2. % IMeigh
= % Roar
4 % Eleat

Question Number : 5 Question Id : 9662316019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁ'cﬁﬁﬁﬁ T T Tl Fer & TH 2 §TAl, U [dded ST o 4 1 a¥g Ag1 51 99 e @1 == & a1 a1l &
ST

Options:

1. % Foe] i sl
2. % feaigamET
3. ® T

4 % fHRET

Question Number : 6 Question Id : 9662316020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that is related to the third term on the same basis as the second term is related 1o the first

terTm.

Badminton - Court o Boxing © Y
Options:

1. % Square

2. ¥ Ring

3. % Arena

4 ® Course

Question Number : 6 Question Id : 9662316020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=9 Tefepe T e B ST 19 UE I F | Haled e W d UgET uE gt U | HellHd gl

S iled  WiE =g 7

Options:

1. % af

2 & T
2% arEizr
4 % pr



Question Number : 7 Question Id : 9662316021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the set of words that are analogous to the given set of words.

Gurn - Bullet : Gunpowder
Options:

1. % AC : Cormpressor - Coolant
2. % Earphones : Music : Ear Pad
3. % Remote : TV : Battery

4 % Cloth - Shirt : Jeans

Question Number : 7 Question Id : 9662316021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Aeal & W W I FE AT Aeg ] o T T AT F ST 3

Ei@:TﬁFrﬁ:m

Options:

1. T @ fidew
2 R Tomie 9T Taw i
3. % frA: Tl e

4, ® gmsT: o A

Question Number : 8 Question Id : 9662316022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the given options can be a part of the group to which the given words belong?

Cheetah, Puma, Jaguar
Options:

1. % Horse

2 % O

3. ¥ Tiger

4. % Bull

Question Number : 8 Question Id : 9662316022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o Ty Temeut § & 2 9-91 /g 39 94E 1 Ted 5 9wl & el 1o T 95g 87

=T, AT, S
Options:

1. % wi=r

2 % 9

2 ¥ A

4 % @

Question Number : 9 Question Id : 9662316023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the pair of words that is analogous to the given pair.

Ink : Inkpot
Options:

1. ¥ Water : Bottle
2. % Ol : Refinery
2. % Oil : Field

4. % Water : Factory

Question Number : 9 Question Id : 9662316023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I eat F ST B AT T S TE AL I argew

NG
Options:

1. & ot afaae
2 % 3d: T
3 R dEET

4 % gt S

Question Number : 10 Question Id : 9662316024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If LION = 12 50and TIGERE = 11.80, then how much is PANDA equal to?

Options:

1. % 26
2 72
3. % 48
4. % 144

Question Number : 10 Question Id : 9662316024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g LION = 12.50 &R TIGER = 11.80 8, I PANDA Torg= o avTer &7

Options:

1. % 36
2 W72
3. % 48
4 % 144

Question Number : 11 Question Id : 9662316025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UF T FE #, PLAY' #71 1612125 0§ el Tam &, 'TIRED' ®1 2091854 & &0 H e mam 81 2652181 & o %1 27

Options:
1. ®* YEBRA
= # ZEBSA



3. ¥ ZEERA
4 % YEESA

Question Number : 11 Question Id : 9662316025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain code, 'PLAY' is writtern as 1612125, 'TIRED!' is written as 2091854, ZE52181 is the code for:

Options:

1. % YEERA
2. % ZEESA
3. ¥ ZEBRA

4. * YEESA

Question Number : 12 Question Id : 9662316026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If EYES is writtenn as 10, 50, 10, 28 and NOSE is written as 28, 30, 38, 10, then how is LIPS written as?

Options:

1. ¥ 24, 18, 32, 38
2. % 24 20,32 28
I.0% 22,18, 22, 28
4 % 24 15, 30, 28

Question Number : 12 Question Id : 9662316026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e EYES %1 10, 50, 10, 38 W NOSE &1 28, 30, 38, 10 % &0 d fekar mam &, a1 LIPS &1 & ferar s ?
Options:

1.9 24, 18 32, 38

2. % 24, 20, 32, 38
3% 22 18, 32, 38
4. % 24 18, 20, 28

Question Number : 13 Question Id : 9662316027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six people &4, B, C, D, E and F are watching the sunset sitting side by side. E 5its in between E and D, C is to the
immediate right of D and sits in one corner. 4 is to the left of E whereas F sits in one corner. Who is sitting in
the 3rd position from left?

Options:
1. % 4
2 ¥ E
2. %E
4 % D

Question Number : 13 Question Id : 9662316027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
FEEIMA, B, C, D, E &fF AT A o R A B EdRD Fdaddsm A C, D Fuaer g T et g w8
dEATE A, EFAE AN Fgai e adars amd A W I 8T 27



Options:
1.% 4
= ¥ E
3. % B
4. % D

Question Number : 14 Question Id : 9662316028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& Doy walks 60 m North-East and then walks 100 m towards North-West, He then walks 110 m towards
South-East and finally 60 m towards South-West. How far and in which direction is he from his starting point?

Options:

1. % 10m in Morth-East direction
2. % 210m in North-East direction
2. ¥ 10 min South-East direction

4 % 210 min South-East direction

Question Number : 14 Question Id : 9662316028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T M@ B0 111 Fo-Tg 1 S Teral g &1 7o Iaw-ubam & o 100 m IwdT 81 @5 T gigmr—gf &7 it 110 m &% sfd #
TG 1 S 60 111 AT 51 dF S10 W Teig o Haw H TR v oM forer Taam # g7

Options:

1. % go-ud fgar & 10m
2 % gme- g d 210 m
3 -y A # 10 m
4 % giPw-gd g # 210 m

Question Number : 15 Question Id : 9662316029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A mMAn says to a wormarn, you are the daughter of my wife's mother-in-law. How is the woman related to him?

Options:

1. ¥ Sister

2. % wife

3. % Daughter
4. % Mother

Question Number : 15 Question Id : 9662316029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U ATGHT U AIRET & FgdT §, TF A U 1 ara i g St ool fra v daie &7

Options:

1 ¥ T
2 % et
3 % el
4. % g



Question Number : 16 Question Id : 9662316030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A rmAn's parents have 2 sons and 1 daughter. He being the eldest child looks at a picture of a person and says,
he is the brother of my sister's father's wife's younger son. Who is the person in the picture?

Options:

1. ¥ Himself
2. % Erother
2. % Father

4. % Son

Question Number : 16 Question Id : 9662316030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U TEHT oF ATGT-T0aT 3 2 =F 3 1 <027 3 9% 9e I27 a1 514 & A U =00 91 aeaf &l 35d7 5 o Fgar s, 95 Acr ag—a &
TUAT & Uail o ¢ oI¢ FT TS 21 o § =ik e 87

Options:

1. v &=
o % qE
3 % foqr
4 % g

Question Number : 17 Question Id : 9662316031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& man says to another, vour mother's only sorn is my son's mother's father-in-law. How is the man related to
hir?

Options:

1. ¥ Father

2. % Uncle

2. % Grandfather
4. % Grandson

Question Number : 17 Question Id : 9662316031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T STTEHT 8¢ & Rl |, TrgTel HIaT T Tohetd ] ool HY o 1 AT 1 99 51 F9 STTEHT 7 399 747 {097 37
Options:

1. T

2. % T ATHT

3% EIET AT

4 % gigr/aamr

Question Number : 18 Question Id : 9662316032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The staternents below are followed by two conclusions labelled [ and I . Assuming that the information in the
staternents is true, even if it appears to be at variance with reality, decide which conclusion(s) logically and
definitely follow(s) from the inforrmation given in the staternents.

Staterments:
Sorre birds are anirnals.
Sorme flies are birds.

COnclusions:
I. Some flies are animals.
IT. All animals are birds.

Options:

1. % Only conclusion I follows.

2. % Only conclusion IT follows.

2. ® Both conclusions I and II follow.

4 % HNeither conclusion I nor 11 follows.

Question Number : 18 Question Id : 9662316032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Hfet Ter Ty et #1 AR 11 Aea o 2f e fEn g 81 95 A 50 o gt | S S S 9o 5, vl B 9 aed adar |
AT U 1 5f, vt & o e a1 Tomad aider &0 9 o e & e ST w0 F wedt 8 S ME AW@I B SIgEior Sl ol

EEEFT:&ﬁ %ﬁ

F Ul 05

T AiwEar gat 8
Termep:

LI

Options:

1. % et fiept 1 argawor aedT 2l

2. % e Tma 11 SIgER FaT gl

3 % g1 ey 1 S 11 Srge @ gl
4 T e [ T g1 Srgaeo w8l

Question Number : 19 Question Id : 9662316033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The statements below are followsad by two assumptions labelled I and 1T . Assuming that the information in the
staternents is true, even if it appears to be at variance with reality, decide which assumption(s) is fare logically
and definitely valid from the information given in the statements.

Staternents:
Sorre wallets have money.
All purses are wallets,

ASSUIMPHONS:
I. Rest of the wallets do not have money.
I1. Sorme wallets are purses.

Options:
1. % Cnly assumption [ 15 valid
2. % Only assumption I is valid

3. % Both ASsUTIRtcrs are walid



4. % MNeither assurmption is valid

Question Number : 19 Question Id : 9662316033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Tar Ty et #1 AT 11 Faa Tt 2 ORI 5 95 A 70 T et # S E AE 9o 5, Wl 51 95 aTedicdd T o ST
Tt g, Tt & foF s § S E S aiii o F A = AT &l

CRIEN
Fr AT Y
it el @i B

wag:fﬁfﬁﬂﬁ f
ii_@vmuﬁqﬁ
Options:

1. % had eI A E

2, % e awOT Il BT AT R
3. o g AR AT B

4, % FHE AT URT AT AR E

Question Number : 20 Question Id : 9662316034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

out of the given options, three are similar in a certain manner. However, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1. % 125

2 ¥ 100

3% 8

4 % 343

Question Number : 20 Question Id : 9662316034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁaﬁ—nﬁﬁﬁ 1 Ter TS Fir & TR 2 §TAT, U [ded ST o 4 o aXg Agl 51 39 e 7 = & AT aTeel &
STETT

Options:
1. % 125
Z 9 100
3. %8B
4 # 243

Mertal Ability 2
Group Number : 2
Group Id: 96623195
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mertal Ability 2
Section Id : 966231210
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 966231224
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662316035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given number pairs, three are similar in a certain manner. However, one pair is NOT like the other
three. Select the option which is different from the rest.

Options:
1.% 29
2 % 3,25
3% 7,81
4 % 9 100

Question Number : 21 Question Id : 9662316035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eqm%wﬁ%ﬁﬁﬁ T Ter TS Fir & T 2 §TATE, U0 AT 3 919 & I0g Rl ol S ATS T T =4 F AT it
3T

Options:
1. % 2 9

2. %325
3. %78
4. g, 100

Question Number : 22 Question Id : 9662316036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A narnber series is given here, only one number is INCOREREECT in the series, find out the INCOEEECT nurmber.

4s, 80, 120, 170, 224, 288



Options:
1. % 80
2. % 120
3% 224
4. % 170

Question Number : 22 Question Id : 9662316036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T UeF 2T ST &1 TE &, 49T H Shddl U 93] Tad 5, TTAd 9T 1 #4

45, 80, 120, 170, 224, 288
Options:

1. % 80

2. % 120

3% 224

4 ¥ 170

Question Number : 23 Question Id : 9662316037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which two signs should be interchanged to make the below equation mathematically correct?

158 x104+320+15-7 =12
Options:

1. % =, +

oW ow =

3V 4 =

4 % - +

Question Number : 23 Question Id : 9662316037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ElERERR e G e R A T v A | e T L T I e s ) e e R s e T e

15 x104+30+15-7 =12
Options:

1. % » +

2w o s

39+ =

4 % - +

Question Number : 24 Question Id : 9662316038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing number in the following number series.

2,204 6,10 7 26, 42, 6A.
Options:
1. % 14



2. ¥ 16
3. % 18
4 % 12

Question Number : 24 Question Id : 9662316038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T ST e § o ST & A9 #
2, 2,4, 6, 10,7, 26, 42, 63

Options:

1. % 14

= ¥ 18

3. % 18

4. % 12

Question Number : 25 Question Id : 9662316039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the set of numbers that is sirmilar to the givern set

(16, 22, 96)
Options:

1. ® (20, 80, 180)
= % (30, B0, 150}
3. % (30, 45, 90)
4. % (20, 40, 120)

Question Number : 25 Question Id : 9662316039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I FEaTat & AE w1 AT P AT G0 T T o HE 2

(1e, 22, 96)
Options:

1. % (20, 80, 120
2. % (30, B0, 150}
3. % (30, 45, 30)
4 9 (20, 40, 120)

Question Number : 26 Question Id : 9662316040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Find the appropriate 4th terr
0008 : 125 006257

Options:
1. % 25
=z ® 22
3. % 250



4. ¥ 16

Question Number : 26 Question Id : 9662316040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TIT &0 F T 0 A9 F

0003 : 125 006257
Options:

1. % 25

2. % 32

3% 250

4 ¥ 18

Question Number : 27 Question Id : 9662316041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option that can appropriately replace the question mark (7).

o52 _ 0?7 179 - gf

Options:
1. ¥ =
ER
3 %

4. =

Question Number : 27 Question Id : 9662316041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
39 omed &7 T ¢ AT IT W e (7) & A o aan

252 _op?p 179 - g?
Options:

1.9 =

o ® g

3 %

4 % 5

Question Number : 28 Question Id : 9662316042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the termm that will corne next in the fOllDWiﬂg SEries,

10, 10, 15, 20, 75, ¥
Options:

1. % 150

2 ¥ 225

3. % 175

4 % 300



Question Number : 28 Question Id : 9662316042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AREAT H STTAT 3T STAT U2, T =10 &1

10, 10, 15, 20, 75, ¥
Options:

1. % 150

2 ¥ 225

2. % 175

4 % 3200

Question Number : 29 Question Id : 9662316043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two numbers should be interchanged to malke the below equation mathernatically correct?

I+ 12+-4dxz2-36=12
Options:

1. % 20 4

2. % 12 2

3% 2.4

4. % 320, 36

Question Number : 29 Question Id : 9662316043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et T T ST O 0 A TR T o o T o el S W ST KT T AT 2R

S0+ 12+-4xz2-36=12
Options:

1. % 320, 4

2. % 12, 2

3% 24

4. ¥ 20, 36

Question Number : 30 Question Id : 9662316044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following figure, square represents joggers, triangle represents lawyers, circle represents Indians and
rectangle represents mothers, Which set of letters represents Indians who are lawyers?

A
e /i\
c G D
E
Options:

1.%G



2. % B
3. % H
4 ¥ F

Question Number : 30 Question Id : 9662316044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.% G
Z % B
3. % H
4 ¥ F

Question Number : 31 Question Id : 9662316045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following Venn diagrams best represents the relationship betweeen cats, manunals and animals?

Options:

1.9
¥ %
[ ()] | ) .
: N

= "

3" N



Question Number : 31 Question Id : 9662316045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o & @19 AT & N Teieerdl, Tl Y ATat oF e o Here o Heae ST ST a7

Options:

1. ¢
T
( \ ) \ )
L B> A 4

R

3 % =

4 *

Question Number : 32 Question Id : 9662316046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A rman travels 8 kimis Morth and then 12 kms South and 2 kms East. How rmuch minimum should he travel to
reach his original point?

Options:

1. % 7km
2. % g km
2. ¥ S km
4 % 9km

Question Number : 32 Question Id : 9662316046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%amﬁamaﬂ?aﬂ?ﬁa‘( 12 Y1 ST 37T 3 kerry T ST ATAT AT 3 ST0 T Telg T gl o O I Tt =<qea | amr

Options:

1. % ¥lkm
2. % Ekm
3. ¥ S km
4 % 9km



Question Number : 33 Question Id : 9662316047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A rnan walks 50 m Morth, 20 m East and 50 m South. Lastly he walks 20 m West. How far is he from the
Starting point?

Options:

1. % 15m
2. ¥ 10m
3. % 5m

4. # Same place

Question Number : 33 Question Id : 9662316047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%a%aﬁﬂgg?mm 30 11 Oef #f1C 50 rry STE T ST TR 31 ST H @5 20 oy TS R S 64T 3 ay IS feig o e |
ST H

Options:

1. % 15m
= ¥ 10m
3. % 5m

4, % Fer=mg

Question Number : 34 Question Id : 9662316048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four options three are similar in a certain way and one is different. Find the option which is
different.

Options:

WH S
I O

-~

Z
N
o

)
@)
= =

pd

o

-
0 2 I




A I D

W
Q
pd

N
O

Question Number : 34 Question Id : 9662316048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
WH S
I O K
N Z Q
1 &
HQ K
S O N
Z |1 W
o %
S HN
K w |
N O Q
3 v
| W S
N QH
0O Z K
4 W

Question Number : 35 Question Id : 9662316049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the immage that is related to the third image on the same basis as the second image is related to the first
irmAge.

EI N --& &I
S8l lee|[YVV[e| 7
=" 1| [A A
Options:
VIV
VV
VvV
1 W
VvV V
v A
JAAY
o %
> A
> AL
> A<
3 %
AV A
A A
YNY
4 #®

Question Number : 35 Question Id : 9662316049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



VIV

VvV

1.9

><]
> B <

> A
> A
> A<

1BP

V
V

1B

Question Number : 36 Question Id : 9662316050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& figure series of € parts is given. One of the parts given in the options is INCOREECT . Find the incorrect part.

POOVO|IOO0OE®|0 ® O
VRN @ @ ®©
Qee|0 2O0O|@ O O

@0

2o

20
2
2

Options:
1% 4
2 ¥E
3 % C
4 % D

Question Number : 36 Question Id : 9662316050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1% 4
o ¥ E
3 % C
4 %D

Question Number : 37 Question Id : 9662316051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following cubes in the answer figure CANMNOT be made based on the unfolded cube in the
question figure?

X1 || 1O

Options:

1.9




Question Number : 37 Question Id : 9662316051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IO AT | o O W U AT id B U O o ST U AR ST AT Aed T 57

X RO

Options:
e/ @
e/ ®
1.9
o W




O

Question Number : 38 Question Id : 9662316052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figures, select the one in which the question figure is hiddern fembedded.

Options:

LA RV
A A
3 v




Question Number : 38 Question Id : 9662316052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TTE A SAFTTAT H W, T U AT =G B o wg gt v 2

Options:

NN
25 L
3 v

Question Number : 39 Question Id : 9662316053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If a rmmirror is placed on the line MM, then which of the answer figures will be the right mirror image of the
given figure?

Options:

Question Number : 39 Question Id : 9662316053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 40 Question Id : 9662316054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What is the minirmum number of straight lines required to draw the given figure?

>

Options:
1. % 10
Z % 11
3.9 12
4. % 13

Question Number : 40 Question Id : 9662316054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST TS T T o Toi aimersarer witeft eamedt &1~ w wee Far 87

bl

Options:
1. % 10
= %11
3.9 12
4 % 13

eneral Avwarenessl
Group Number : 3
Group Id : 96623196
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0



Minimum Instruction Time:

General Awarernessl

Section Id : 966231211

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231225
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662316055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich armong the following dance form is performed during the Gajan festival of Lord Shiva?

Options:

1. * Jhijhian
2. % Dormni
3. ¥ Alkap
4. * Erita

Question Number : 41 Question Id : 9662316055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Traiead # & & A7 o ® W 19T & T e 5K Ud & a1 [l AaT 57

Options:

1. % g
2 %

3. ¥ s
4 % feaT

Question Number : 42 Question Id : 9662316056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Jaanapada Geethe is a collection of folk songs that narrate the everyday lives of the people. With which of the
following states is it associated?

Options:

1. ¥ Karnataka
2. % Gujarat

2. % Wwest Bengal
4 % Jharkhand



Question Number : 42 Question Id : 9662316056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT, 1T w1t T O G0g 3 A7 A 3 TR 3 St w1 e wear g el # & e aea S ga e

Options:
1. ¢ gicw

2 % ToRE
= % gl =

4 ® ZwEz

Question Number : 43 Question Id : 9662316057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The construction of the Kutub Minar was started by the founder of the

Note: For this question, discrepancy isfound in question/answer. So,this questl onisignored for all
candidates.

Options:

1. 5law Dynasty

Z2. Tughlag Dynasty

2. Mamlulk Dynasty

4. Delhi Sultanate

Question Number : 43 Question Id : 9662316057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e HiA @ T o T BT S T T am

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. &1 T

2. TITeIe el

3. Wl TFAe

4 TEFe! Hed=d

Question Number : 44 Question Id : 9662316058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Losoong festival is celebrated each vear in the mornth of

Options:

1. # January
2. % April

2. % March

4. ¥ Decernber

Question Number : 44 Question Id : 9662316058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T g AW ____________ & AT H AT ST

Options:



1. % Faer
2. % aa
3 % A

4. o feHaw

Question Number : 45 Question Id : 9662316059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MNIFC stands for

Options:

1. % MNet Income Foreign Cost

2. % National Incorme Foreign Cost
Z. % Net Income at Factor Cost

4. % MNational Income at Factor Cost

Question Number : 45 Question Id : 9662316059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
NIFC T ST 2l
Options:

1. % 37 T%H B Fee

2 % J99H TIEH BT BeT

3. % 7 T%H UT BEet Fee

4, ¥ J3=F TAFA U BT Fee

Question Number : 46 Question Id : 9662316060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Itlal Grameen Bank is sitwated in ____________.
Options:

1. # Jharkhand

2. % Raipur

% % Kohima

4 % Odisha

Question Number : 46 Question Id : 9662316060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Foehel TTHIT e H e

Options:

1. % ZHEs
2 % R
3 % g
4 arifEam

Question Number : 47 Question Id : 9662316061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



As annournced in the Budget of 2019, the 22nd All India Institute of Medical Sciences will come up in

Options:

1. % Harvana
= % Bangalore
3. # Punjab

4. % Chennai

Question Number : 47 Question Id : 9662316061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST R 2019 % T | T Rrm e €, 22 a7 arfde awdi s wee o armgTm
Options:

1. % g

2 ® R

3 ® g

4 % oIgE

Question Number : 48 Question Id : 9662316062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The motion of a body about its mean position 1S known as _________________
Options:

1. % vibratory motion

2. % randorm motion

3. # rotatory motion

4. % translatory motion

Question Number : 48 Question Id : 9662316062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tz & id 3ae! oftaT i o & © AT AT 2]

Options:

1. & o i

o ® Saedter mid

3. % off i

4 % aryang et id

Question Number : 49 Question Id : 9662316063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15 used to process sugar and make gelatin.

Options:

1. ¥ Calciurn Oxide

= % Hydrochloric Acid
3. ¥ Ascorbic Acid

4. % Phosphoric Acid



Question Number : 49 Question Id : 9662316063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T IO AT T AT T 3 T e =1 & T fomam a8

Options:

1. % HiFiay dfeaeEs
o, o TESIFAIE T
3. R gEwTgw A

4. ® HIEHITE T

Question Number : 50 Question Id : 9662316064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the Central Fural Sanitation Programume launched?

Options:

1. % 1975
=z ¥ 1986
3. % 1985
4. % 1992

Question Number : 50 Question Id : 9662316064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oy 12T ITH 0T Feremd | BT 1 SR el T T 17

Options:

1. % 1975
2 ¥ 1986
3. % 1985

4. % 1992

Question Number : 51 Question Id : 9662316065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tadoba Tiger Reserve 15 situated in

Options:

1. ® Harvana

= % Punjab

3. ® Gujarat

4. ¥ Maharashtra

Question Number : 51 Question Id : 9662316065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
CCACIK IO = R H 2T 21

Options:

1. % gamm
2 ® Ue"

3. ® TR
4. v WERTE



Question Number : 52 Question Id : 9662316066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Star fish belongs to phylurn ___________
Options:

1. ®¥ Hermichordata

Z. % Echinodermata

3. # Chordata

4. % pcchelminthes

Question Number : 52 Question Id : 9662316066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR o & i 2
Options:

1. % ftwiger

2. ¥ TETEAIZHeT

3. % wgd

4 % arEfEEedm

Question Number : 53 Question Id : 9662316067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The female sex organ of bryophytes are called
Options:

1. # sporophyte

2. % antherozoids
2. #* antheridium

4. ¥ grchegonium

Question Number : 53 Question Id : 9662316067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HTIHTEET o HigeT A &l e ____________ T AT 3]
Options:

1. % mRieEs

2 % ERrARSE

= ® apfiizam

4 ¢ aEimi=eg

Question Number : 54 Question Id : 9662316068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

EBoiling corntarminated water will remosre all from the liquid.

Options:
1. #¥ Hydrogen
Z ¥ Cwygen

3. * Carbon dioxide



4. % Methane

Question Number : 54 Question Id : 9662316068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FLERICIEIECICE I L K i [EETEEi]
Options:

1. % gEghH

o ¥ T

3. ® P STETEES

4. ® dEe

Question Number : 55 Question Id : 9662316069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Miacin is the real name of Vitarmin _____.
Options:
1. ¥ B3
Z % E1l
3. %D

4. % E

Question Number : 55 Question Id : 9662316069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATE AT et ________ T ATET T ATH 21
Options:

1. ¥ E3

2 % B1

3. %D

4 % E

Question Number : 56 Question Id : 9662316070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following is the largest dam of Karnataka?

Options:

1. % Rihand dam

2. ¥ Tungabhadra dam
2. % Bhavanisagar dam

4. % Maithon dam

Question Number : 56 Question Id : 9662316070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T & & &1 |7 Fiw @7 Tad a957 a7

Options:



I % aEIET =Ty
4. % Forary

Question Number : 57 Question Id : 9662316071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ancient name of river is YWetravati.

Options:
1. # Krishna

2. ¥ Betwa
= % Indus

4. % Jhelum

Question Number : 57 Question Id : 9662316071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T2 & W AT 9324 1 8l

Options:
1 = T
2. ¥ gFar

3. % Ty
4 % ZEgE

Question Number : 58 Question Id : 9662316072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which soil is commonly used for making bricks?

Options:

1. % Alkaline soil
2. % Black soil
3. % Red soil

4. Laterite s0il

Question Number : 58 Question Id : 9662316072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gt gar
2. % FE g
3. % o Har
4, ¥ GEET gar

Question Number : 59 Question Id : 9662316073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Afghanistan lies to the

Options:
1. #* east



2. % north-west
3. * north-east

4. % south-west

Question Number : 59 Question Id : 9662316073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:

1. %

2. ¥ FaT-urEm
3 % gw-gd

4 % gigor- akEm

Question Number : 60 Question Id : 9662316074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Wwhite Eevolution is related to ____________.
Options:

1. % rice

2. % cotton

3. ¥ milk

4. % barley

Question Number : 60 Question Id : 9662316074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT W  HaATIT 21
Options:
1. % =
2 % T
3.V gy
4. ¥

ereral Awarenesss
Group Number : 4
Group Id : 96623197
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awarenessz

Section Id : 966231212

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231226
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9662316075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ________ 15 also knowrl a5 Sahyadr hills.
Options:

1. ®¥ Karakorarm Range

Z. % Eastern Ghats

3. % Western Ghats

4. % aravalli Range

Question Number : 61 Question Id : 9662316075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
__________ FT " TETE ot & A & ot =7 = 1aT 8
Options:

1. % FHTERT

2 % gEiaw
2. & gl e
4 ¥ swIEHT I

Question Number : 62 Question Id : 9662316076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In 1924, Hindustan Eepublican Association was formed in

Options:
1. ® Delhi

= ¥ Kanpur
3. ¥ Murmbai

4. % Punjab

Question Number : 62 Question Id : 9662316076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
lo24® _____________ T figear feafeo waiTamar @1 ma- T mar am



Options:
1. % fwar
2. ¥ @
3 % gag

4. ® o

Question Number : 63 Question Id : 9662316077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did the Non-Cooperation movernent start?

Options:

1. % 4th May 1920
2. % 2nd April 1921
3. # Sth March 1918
4 % 1st August 1920

Question Number : 63 Question Id : 9662316077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT HIG I Tal & FHT?
Options:

1. % 472 1920

2 ® 2 afe 1921

3 % oA 1918

4. % 1 ameg 1920

Question Number : 64 Question Id : 9662316078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who was the founder of the Sayyid Dynasty?

Options:

1. ®¥ Muharmmad Shah
2. % Mubarak Shah

2. ¥ Khizir Khan

4 % Shah Alam

Question Number : 64 Question Id : 9662316078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT TR T AT i 4077

Options:

1. % ggFAg amg
2. % [Ed ag
3 ¥ RaEm

4. % IqE ATAH

Question Number : 65 Question Id : 9662316079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



__________ introduced the Mansabdari Systern (Holder of rank) to organise the nobility and army.
Options:

1. ¥ akbar

2 % Hurmayun

3. # Jahangir

4. % Shah Jahan

Question Number : 65 Question Id : 9662316079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

________ o Pl T FIT HAT T AT FA F TAT TG HOTTRT (05 T eRep) 1 1T &

Options:
1. ¥ e

2. % gy
= ® g
4. % amg

Question Number : 66 Question Id : 9662316080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following is known as “Sahid-i-Mazlum'™?

Options:

1. ¥ Babur

= ¥ Farrukhsivar
3. % Alamgir

4. % Shah Alam

Question Number : 66 Question Id : 9662316080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt & & B e -T-Te & T § STHT AET 87
Options:

1. % 9w

2. ¥ B T

3. % STAmEIR

4. ® IE ATH

Question Number : 67 Question Id : 9662316081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ralph Fitch was the first Englishman to visit
Options:

1. # Jahangir's

2 % Hurmavun's
3. % Babur's

4 ¥ plkbar's

Question Number : 67 Question Id : 9662316081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

TFE e ____ TEAT AT ATe Ogat ST 201
Options:

1. % sgific

2. % AN &

3 % gEwd

4 IAFR &

Question Number : 68 Question Id : 9662316082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
India : The Future is MNow' iswritten b ________________.
Options:

1. ® MNatwar Sirngh

Z. % Shashi Tharoor

3. # Kiran Bedi

4. % armish Tripathi

Question Number : 68 Question Id : 9662316082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ThredT: ST RER A 89 ________________ BT ol T 21

Options:

1. % qeem T
2 ¥ gid ot
3 % TEwagr
4 % g EuTaT

Question Number : 69 Question Id : 9662316083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_________ has withdrawn its membership from the Organization of the Petroleurm Exporting Countries (OFEC)
with effect from 01 Jan 2015

Options:

1. % Venezuela
Z % Saudi Arabia
3. *® Migeria

4 ¥ Catar

Question Number : 69 Question Id : 9662316083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_________ q 01 T 2019 & U iierey Teriaw 2ot & dnad (a0ite) & ST SSedT ame o w2

Options:

1. % e
2 % waorerd
3. % =it

4 & ]



Question Number : 70 Question Id : 9662316084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Space Applications Centreat _____________ is engaged in the development of pay loads for cormmunication,
meteorological and remote sensing satellites.

Options:

1. % Ahmedabad
= % Murbai

3. # Kanpur

4. % Punjab

Question Number : 70 Question Id : 9662316084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_____________ o srafes SR the, HHEW A ol gre el SUg! o oy e Wi o T | @ gar g
Options:

1. ¥ AT

2 % gag

3 ® @

4 ® e

Question Number : 71 Question Id : 9662316085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_____________ launched Bhrashtachar Mitao Andolan, a movernent against corruption which brought down the
COTZress government in 1977

Options:

1. # Shyama Prasad Mukherjee
Z % Jai Pralash MNaravan

3. # Syed Ahmed Khan

4. % Acharya Vinoba Ehave

Question Number : 71 Question Id : 9662316085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____________ + ETETE THETelt SITea e w7 AT T, S T & TEATE U ang e o7 e 1977 H @il J @t A

Options:
1. % sy veTg gt
2. % S YRS AT

3. ¥ #9T aEAg Ee
4. % vl farE v

Question Number : 72 Question Id : 9662316086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich among the following songs wor the Grammy Awards for Song of the year 20157
Options:

1. % The Joke



2. % This is America
2 * God's Plan
4. % [n My Blood

Question Number : 72 Question Id : 9662316086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o it | & Torer it S ad 2019 & Foig T qeem SAtare
Options:

1. % grm

o T T amfeaT

3. % MEg e

4 % A% @2

Question Number : 73 Question Id : 9662316087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Manoj Bajpayee received the in 20149 for his contribution in the field of Art-Acting-Films.

Options:
1. % Padma Shree

2. % Padrma Vibhushan
= % Padma Ehushan

4 % Bharat Ratna

Question Number : 73 Question Id : 9662316087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT AUt = AT 2T - Tert & g7 # 39 g & mr 2019 # TTH e

Options:
1. wEpERt
2. % oy T

3. % T
4. ® ART

Question Number : 74 Question Id : 9662316088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fart [V of the Indian Constitution deals with

Options:
1. #* Fundamental Duties

2. % Directive Principles of our State Folicy
3. % Citizenship
4. % Fundamental Rights

Question Number : 74 Question Id : 9662316088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 17 | & AT IV o HaTEd 2l

Options:



1. ® Mifew Fdea

2. & gaT v i W e g
3. % i

4. % mifew st

Question Number : 75 Question Id : 9662316089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frotection of interests of minorities comes under

Options:

1. ¥ Right to Equality

2. ¥ Cultural and Educational Rights
Z. % Right against Exploitation

4. % Right to Constitutional Remedies

Question Number : 75 Question Id : 9662316089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

1. % HAMET F AR
o> o giegiw ot Aiw s
3. % gy o FEATE SITEREY

4. ® HTHE IUDR @ ST

Question Number : 76 Question Id : 9662316090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The concept of the Fundamental Rights of the Indian Constitution is borrowed from the Constitution of

Options:

1. % The United States of America
2. % Canada

Z. % France

4 % sustralia

Question Number : 76 Question Id : 9662316090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A 1 |ire & Ao Sféepe! & araemo o Tiere o TN HT T 21

Options:

1. & w T i
2 ® grET

2 % wmE

4, ¥ afedferEr

Question Number : 77 Question Id : 9662316091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



which among the following Articles of the Indian Constitution prohibits discrimination on the basis of religion,
race, caste, sex or place of birth?

Options:

1. % Article 20
= ¥ Article 15
3. % Article 232
4. % Article 18

Question Number : 77 Question Id : 9662316091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

WA wifeen & ity gt § & 219 a1 o, I, Ff, T3 a7 F90 w01 3 3w o7 g @ T 87
Options:

1. % argedg 20

2 ¥ gy 15

3. % arfEdg 23

4 % ardg 18

Question Number : 78 Question Id : 9662316092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ THF ¢TI LT o S 25 o Weler T ITAT g el A 197 8]
Options:

1. & i TR

2. ® gl g T

3. ® Uit gew

4 ® murET e

Question Number : 78 Question Id : 9662316092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
____________ is the first Indian to enter in top 25 of table tennis rankings.

Options:

1. ¥ Sathivan Gnanasekaran
2. % Manika Batra

2. % Poulorri Ghatalk

4. % Anthony Amalraj

Question Number : 79 Question Id : 9662316093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who worn the gold medal at the Grand Prix of Spain Wornen's Wrestling in the 53 kg category?

Options:

1. ¥ Manju Kurmari
2 % Divya Kalkran
2. % Vinesh Phogat
4. % Pooja Chanda



Question Number : 79 Question Id : 9662316093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
53 kg o # € AR st 3 T oft 7w ga e ST

Options:

1. % o gomet

o, % ooy waee
3. ¥ T e
4 ® AT TIET

Question Number : 80 Question Id : 9662316094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who worl the gold medal at the Grand Prix of Spain Wormen's Wrestling in the 68 kg category?

Options:

1. ® Manju Kurmari
Z % Divya Kakran
3. # ¥Vinesh Phogat
4. % Pooja Chanda

Question Number : 80 Question Id : 9662316094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
68 kg o & T AT gpst 3 70 oft 7w ga et ST

Options:
1. % o gomet
o, ¥ o wEe
3 ® fadgeltme
4 ® AT TIET
Arithmetic Ability 1
Group Number : 5
Group Id: 96623198
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithrnetic Ability1
Section Id : 966231213
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231227
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9662316095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of: (180f 8 [ 9 + [{14 = (18[E) - 36} = 4]

Options:
1. % 32
2. % 36
3.9 40
4 % 44

Question Number : 81 Question Id : 9662316095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

B/ WILE) + [[14 = (158/6) - 36} = 4] ﬂﬂqfqmﬁ
Options:

1. % 32

2. % 36

3. ¥ 40

4 % 44

Question Number : 82 Question Id : 9662316096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: 1+ 3+ 25+ 1100+-/44 1)) = 7

Options:
1.%1
= 2
3% 3
4. % 4

Question Number : 82 Question Id : 9662316096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A FE (1 (3425 +/(100+-/44100) = 7

Options:
1.%1
=



3 % 3
4. % 4

Question Number : 83 Question Id : 9662316097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Simplify: 19 x6+2+3=7
Options:

1. % &8

2. ¥ B0

3% B2

4 % LB

Question Number : 83 Question Id : 9662316097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR 19 xE+2+3=7
Options:

1. % 5&8

= ¥ B0

3% g2

4 % 5§

Question Number : 84 Question Id : 9662316098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 numbers differ by 10 and their HCF and LCM are 10 and 200 respectively. Find the square of the sum of the
IITDers.

Options:

1. % 5400
=z ¥ 2100
2% 2000

4. % 9000

Question Number : 84 Question Id : 9662316098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 HEATT 10 | Wg 51T § 3T 37 Hgad aHed & &f% A0y GHed & FA: 10 3T 200 §id 81 SEqmait & I &7 T w119 @4
Options:

1. % £400

2. ¥ 3100
3. % 5000
4. % 9000

Question Number : 85 Question Id : 9662316099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How many significant digits will be there to the right side of the decimal point in the resultant product of
4 544 and 5. 4557



Options:
1.¥5
2. %5
%7
4. % 4

Question Number : 85 Question Id : 9662316099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4.544 &K 5,455 & URUTHT FeUTg H TAHA Toig & 918 A - Ageayqui sid g7
Options:
1.5
o ® g
3 %7
4 % 4

Question Number : 86 Question Id : 9662316100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whatisthe valueof (72 x 732-58 =53 (15 = 1317

Options:
1. %05
2. % 075
3.¥ 1
4 % 125

Question Number : 86 Question Id : 9662316100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1727 2-58x58 +(15x 13.1)@‘[@@%?

Options:
1. % 0E
2. % 075
3.¥ 1
4 % 125

Question Number : 87 Question Id : 9662316101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In crder to obtain tax benefits, a man starts investing in government schernes, 4 and E. He invested a total of
FEs 85,000 in both the schemes. Schermne & provides a return on & percent whereas schieme B provides a return
or 5 percent. If the interest gained over 1 vear is BEs 4,650, then how much did he invest in A7

Options:

1. % REs 20000
2. % Rs 36000
2. ¥ Rs 40000
4 % Rs 45000



Question Number : 87 Question Id : 9662316101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AT ATH H o T, UeF eiith Tapiel ar=mTd A 3 B § THeer @01 & @ 2471 81 J6- gH1 Fiemet § §a 85000 20 &
Toretar Tepam IR A 6 Wi O Ui WeT ®ed| & FAih AT B 5 Widad &1 NidEa el #dl 51 Ate 1 af & 2778 &7 s
4650 77 2, 7 36 A H fopaar e i 27

Options:

1. % 20000 #o07
2. % 26000 oo
2% 40000 T

4. % 45000 F07

Question Number : 88 Question Id : 9662316102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& farmer raises bulls and birds. The birds and animals on his farm has a total of 130 heads and 280 legs.
Find the number of birds he has.

Options:
1. % 50
2. % B0
2V T0
4 % 320

Question Number : 88 Question Id : 9662316102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Tore T olet 11 UTgrt 1 UTea T 21 36 9 U Higat o FHaet & e 130 & & 380 &% 8 uigaf @& a2 & Ja #:4

Options:
1. % 50
2. % G0
V70
4 % 320

Question Number : 89 Question Id : 9662316103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ works in a factory where RS 20 are paid for a normal working hour and Rs 20 is paid for an overtime
working hour. & regular week comprises of 5 days of 10 working hours. If the man earns s 5200 in 4 weeks,
then for how many hours did he work in total?

Options:

1. % 200
2. % 225
2% 250
4 % 240

Question Number : 89 Question Id : 9662316103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥ U et H wH AT & T e T o A0 20 00 0 T quai F 60 30 T =0 7 T {5 6T 8w e
AATE § 10 F el % 5 T antie g 8 Iie st 4 JuTg # S200 T FATT R, T IH Fel Toha T W wIH e

Options:




1. % 200
2. % 225
3% 250
4. % 240

Question Number : 90 Question Id : 9662316104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is equivalent to 0.125 x 1 + 1.6 x 2560 x 0.005 = 0.04 =7

Options:
1.9 25
2. % 250
Z% 20
4 % 2

Question Number : 90 Question Id : 9662316104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THAFFET AT FTAT0.125 % 1 = 1.6 x 2560 » 0.005 = 0.04 & =T 57

Options:
1. ¥ 25
2. % 250
3% 20
4 ® 2

Question Number : 91 Question Id : 9662316105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& group of 4 children 4, E, C and D have different number of books with them. & has 1/4th of the books with
E. E has 1/3rd of the bools with C and C has twice the number of books with 0. If T has €0 bools, then what
is the average nurnber of books in the group?

Options:
1. % 5325

2 ¥ 575
3. % 5375
4 % 54725

Question Number : 91 Question Id : 9662316105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4 Tgi FHAg A, B, C AR D & U S[eT-3AT 97§ fohdTe 51 A F O E Famr 1/4 BIEFUHC FE™ 1|3 [Ead &
AT C & UTE D o T FEAT T AT geacr g1 g D & 0TE 60 JEadr 5, a1 @gg H T eftad HT 74T 57

Options:
1. % 5225

2. ¥ 575
2. % C27E
4 % 5425



Question Number : 92 Question Id : 9662316106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& group of friends comprise of 4 boys and 4 girls with an average weight of 88 kgs. If the average weight of 2
boys and 3 girls is 62 kgs and 74 kgs respeactively, then what is the average weight of the remaining 1 boy and
1 girl?

Options:

1. ¥ E0kg
2. % 5lkg
2% B15kg
4 % 505 kg

Question Number : 92 Question Id : 9662316106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sl o U GHE H 4 FEwT T 4 A iid § M9 T a9 66 kg 81 I 3 AE®! i 3 Aot @ HHa oo FAT
62kg 3T 74 kg & a7 97 1 A=t oK 1 FizehT @7 16 o a1 27

Options:

1. ¥ E0kg
2. % Blkg
2% 5lEkg
4 % 505 kg

Question Number : 93 Question Id : 9662316107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

what should be the average rate of scoring runs if a cricket team has scored 175 in 15 overs and has to score
a total of 240 in 20 overs?

Options:
1. ¥ 13
2. 0% 12
=% 11
4 % 14

Question Number : 93 Question Id : 9662316107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e e TIF =1 15 SRl # 175 T o0 & o 20 afigd! § Fdf 240 T a1 &, T T a1 @1 2fiad 27 g

Options:
1.¥ 13
2 % 12
0% 11
4 % 14

Question Number : 94 Question Id : 9662316108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& piece of cloth was sold at an effective discount of S0 percent. [t was a result of 2 successive discounts. If the
first discount was 25 percent, then how much was the second discount?

Options:



1. ® 25 percent
= % 40 percent
3. * 30 percent
4. % 23 33 percent

Question Number : 94 Question Id : 9662316108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aa‘qga:-‘rgﬁ?wwso Wichare o WTell 2 O T AT M T 2 6k gl o Ui 2T Aie uget ge 25 Hidad off, 91 gHi g

Options:

1. % 25 uidem
2. % 40 UidaT
3. % 30 uidea

4 % 33 33 UidadT

Question Number : 95 Question Id : 9662316109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ while performing an experiment had to multiply a variable by S but had divided by S instead. What is his
EITOr PErCEntage?

Options:

1. ¥ 96 percent
2. % 100 percent
3. % 90 percent
4. % 92 percent

Question Number : 95 Question Id : 9662316109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥ TRIT el 0 U o) BT 5 & T0 FAT 417 wifehe gecr arar S & ferariara T em geaT gie uidaa 7ar g7

Options:
1. 96 uidad

= % 100 uiad
=z % 90 uigaT
4 ® 92 gidad

Question Number : 96 Question Id : 9662316110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& cormnputer was bought for Bs 40000, [ts value depreciated over 3 years at the rate of 10 percent in the 1st
vear, 11.11 percent in the 2nd year and 12 50 percent in the 3rd year. What is the present value of the
COrTputer?

Options:
1. # Rs 20000

2. % Rs 24000
3. % REs 25000
4. % Rs 28000



Question Number : 96 Question Id : 9662316110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T F 40000 FOT H W7 T 9N SHET Hed 3 a8 | O 7| UEAT a9 £ o HiEed | Y T H 11,11 widaT &
aﬁﬂ%%ﬁlzsouﬁ&ﬁrm Wmaﬁm%%%? =

Options:

1. % 20000 #o0
2. % 24000 O
2% 25000 T

4. % 2R000 T

Question Number : 97 Question Id : 9662316111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A laptop was bought for RS 45000 and Rs S000 was spent on its maintenance. After a while, it was sold for Rs
40000, How much 10ss was incurred?

Options:

1. ¥ 20 percent
2. % 25 percent
3. % 30 percent
4 % 35 percent

Question Number : 97 Question Id : 9662316111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T U210 45000 7 H TS =7 47 1K $H t@Ed o 5000 707 &= 3] 77 4 7 8¢ 91g, 36 40000 207 § =7 71=m
T aTT gy

Options:

1. % 20 nidem

= ® oo oida
=z % 3ouhaT
4, % 35 it

Question Number : 98 Question Id : 9662316112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The percent of profit earned on selling a laptop for Rs 15000 is the same as the percent of 1oss incurred on
selling the laptop for Rs 9000, Find the price at which it should be s0ld to gain S0 percent?

Options:

1. % Es 23000
2. % Rs 24000
2. ¥ Rs 13000

4 % Hs 21000

Question Number : 98 Question Id : 9662316112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15000 P07 H AUSTT sfel UT g4 16l /T ®T Wi d a5l 7 51 #ue i &1 9000 U0 § se 0 5 Jel e &7 Wi 31 30 07
T AT Tt A U 56 50 UiTaT gT9a ®ee & (60 sl AT ATy e

Options:



1. % 22000 7O7
2. % 24000 w7
3. % 18000 #q7
4. % 21000 &7

Question Number : 99 Question Id : 9662316113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

15 scores of bolts were purchased for Rs 4500, They were sold in packs of half-a-dozen each. Each pack was
sold for Es 135 What is the overall profit percent?

Options:

1. % 25 percent
2. % 45 percent
3. % B0 percent
4. ¥ 50 percent

Question Number : 99 Question Id : 9662316113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g‘g&ﬁ? 15;—?1?4500 =TT H LI T 2N of Wedidh & ST Goid UeF H sl T 9N Woar O 1 135 0 # o7 T 9m el AT
ST T &

Options:

1. % 25 nidem
2. % 45 uideT
3 ® gondaT
4. ¥ SO Ui

Question Number : 100 Question Id : 9662316114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥isa 18 months older than Y. If ¥ is 6 vears old, what is the ratio of the ages of ¥ and ¥7

Options:
1. % 76
Z ® BE
3. % 324
4. % 54

Question Number : 100 Question Id : 9662316114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

L YHIS W aeTR A Y € a9 o1 5, a1 X oY & 21 &7 SRJTd F47 57
Options:
1. % 7.
R
3% 3
4 95

N ¥ 1 5 )



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Arithrmetic Alality2

6
96623199
0

0
No
No
0
20
Yes
0

0

Arithmetic Ability 2

Section Id : 966231214

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 966231228
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9662316115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& train and a car start together from a point and the time required by them to reach a certain distance is in the
ratio of 4.5, What is the ratio of their speeds?

Options:
1. % 76
2 % g5
3% 24
4 ¥ 54

Question Number : 101 Question Id : 9662316115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wiﬂmﬁaﬁrwwwﬁgﬁgﬁ@ﬁ%aﬂrwﬁﬁaﬁgﬁwu@ﬁ#ﬁqmmmmm4 S % ST | g7 8l
T TG T SR 4T 57

Options:
1. % 76
2. % g5
2% 34
4. % 54



Question Number : 102 Question 1d : 9662316116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

24 is divided into two positive parts such that double the square root of the bigger number is 1 more than the
smaller nurmber. Find the square of the smaller nurmber.

Options:
1. % 49
2. % B4
3. ¥ 81
4. % 100

Question Number : 102 Question Id : 9662316116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

34 T &1 e=Ten® W # T e e § A9 R ST ST 6T @ ciae Siel ST § 1 arfedy g1 $iel AT ®% At A1 #)
Options:

1. % 49

2. % 54

2. ¥ Bl

4 % 100

Question Number : 103 Question Id : 9662316117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the simple interest earned on Bs 10000 at 20 percent p.a. from 1st January 2018 to 26th May 20187

Options:

1. % Rs 2000
2. % Rs 1600
3. ¥ Rs 800

4 % Hs 1200

Question Number : 103 Question Id : 9662316117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 FaT 2018 & 26 A2 2018 7% 10000 F07 U€ 20 Widad TTHe o 2 & a7 aTemT =37 F4T 277

Options:

1. % 2000 u7
2. % 1600 7
2. ¥ E00 &0y
4. % 1200 w7

Question Number : 104 Question Id : 9662316118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At what rate of simple interest will Rs 840 vield Rs 160 as interest after 4 years?

Options:
1. % 5 25 percent

2. % § percernt



3. ¥ 525 percent

4 % 7 percernt

Question Number : 104 Question Id : 9662316118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4 A o T AT =T 91 2F WY =T o &0 H 540 #07 & 160 07 F47 57
Options:

1. % 525 uidea

o % gudaT

3. ¥ .25 Ui

4 % 7 uidad

Question Number : 105 Question Id : 9662316119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The simple interest on a certain principal for 4 vears at 20 percent interest rate is Bs 2000, What is the
cornpound interest on the same principal for half the time and double the interest rate?

Options:

1. % REs 2000
2. % Rs 2500
3. ¥ Es 2400
4 % Rs ZE00

Question Number : 105 Question 1d : 9662316119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

20 | W &3 8¢ U 4 HTe & ToiT U RS gered 0% |TeRor s40 2000 17 81 e a0 @ o 0w g g et giar
T ¥ T e, s0TT T 27

Options:

1. % 2000 Uy
2. % 2500 7
3. ¥ 2400 7O
4, % 200 T

Question Number : 106 Question Id : 9662316120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& ran travels alone for sometime. He covers 260 ks in a car at 90 kmjh, then travels for 240 kims in a train
at 60 krm/h and lastly covers 120 kans on a bike at 60 kanfh, what is his average speed while travelling?

Options:
1.9 20mjs

f
oo 27 mls
3% 20m/
4 % 35 mjs

]

Question Number : 106 Question Id : 9662316120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T ATGHT FF TS & o7 Sfed AT ®eaT 31 % 90 krn/h $1 TR @ 0o ®1X § 360 kany &1 G4 T4 #aT &, 75 60 kan/h &1
wﬁiﬂwﬁﬂ‘z-ﬁm krry T AW T AT 3 #1680 kanyfh @ TEIT H S8 T 120 kary @ G 97 T B AT Hd GH
THHT et T T 27

Options:
1.9 20m/s

!

Z.% Z7mfs

3% 30m/s
f

4 % 35 ms

Question Number : 107 Question Id : 9662316121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of speeds of 2 trains is 8:9. If the first train covers 420 kimis in S hours, then what is the speed of the
second train?

Options:
1. % 20m)/s

I
o 27 mis
2% 20m|
4. % 35Emjs

5

Question Number : 107 Question Id : 9662316121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2 YEATTTE! ol T T SIUTT 8:9 B Aig Ugei! oMl 5 o # 480 krn &1 G T4 FAT 5, T1 G@T (oIS krry @1 T =1 57

Options:

1. % 20m/s

w27 mfs

2. ¥ 30m/s
!

4. % 35mjs

Question Number : 108 Question Id : 9662316122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A rar and a train start from the same point. The speed of the train is 80 km/h and that of the car is 60 km/fh.
The train reaches the destination without stopping anywhere in 10 hours. For the first 6 hours, the car runs at
its usual speed. By how rmuch should the speed increase for the next 4 hours in order to catch up with the
train?y

Options:

1. % 125 kmfh
2. ¥ S0 km/h
2. % B0km/h
4. % 110km/h

Question Number : 108 Question Id : 9662316122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwﬁwmw@ﬁgﬁg\? 2 ETET F I 80 kmyh § A F # T 60 kimjh 81 TWWET 10 9 H AT
ﬁmwwugaam“r ﬁqwaﬁﬂm—qnﬁ“ﬁaﬂﬁ T 3 |y AT ¥ Ty 4 Het & g i R

Options:



1. % 125 km/h
2 ¥ 50km/h
3. % B0kmih
4 % 110km/h

Question Number : 109 Question Id : 9662316123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ started working on a job which would take 28 days to complete all by himself. He worked on it for 21 days
and left it. ¥ could have finished the task in 40 days all by himself. MNow, he resumes the leftover task by ¥V and
finishes it. How many days did ¥ take to finish the incormplete task?

Options:
1. % 12
2. ¥ 10
2% 18
4 % 15

Question Number : 109 Question Id : 9662316123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Y o e U W O T AT O A T, o T oA | 28 T @i 36 21 Tt a9 39 0T @ T oW 39 wig T X 40
aﬁﬁﬂ%ﬁaﬂ%ﬁﬁwmmm e, TF Y BT ol g0 T B 10 & & P13 58 X7 YT g1 STl AT @l gy e H ¥

Options:
1. % 12
2. ¥ 10
3. % 18
4 % 15

Question Number : 110 Question Id ;: 9662316124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

L and E can together finish a task in 40 days. D can finish the task alone in 80 days. In how many days can E
finish 25 percent of task alone?

Options:
1. % 24
2. % 36
3% 30
4 % 20

Question Number : 110 Question Id : 9662316124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

D i E fiwa ot @ @1 40 fomt o qor o |ed 81 D 80 At o arbet & @7 9% T 21 E e oAt o arbet 25 nida
T IR F T 57

Options:
1. % 24

2. % 36
3% 30



4. 9 20

Question Number : 111 Question Id : 9662316125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

J can finish a task in €0 days. K is 100 percent more efficient than Jand L is 50 percent more efficient than K.
while working together, in how many days can they finish the task?

Options:
1. % 12
2. % 10
3. % 18
4 % 15

Question Number : 111 Question 1d : 9662316125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
] e 0 et A g e AwaT B K, ] & # 100 widaT arfeer Faa & oL, K &1 H 50 wideT arfda Fae 8
wwwmmﬁ%ﬁﬁmmmﬂgﬁ? ¥ i ¥

Options:
1. % 12
2. ¥ 10
2% 18
4 % 15

Question Number : 112 Question Id : 9662316126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A cuboid whose length and breadth measure 27 cmis and 21 cms respectively is made from a cube whose
diagonal is 54./3 crms. Find the height of the cuboid.

Options:

1. % BElcm
2. ¥ FZom
2% B3c0m

4. % Bdcom

Question Number : 112 Question Id ;: 9662316126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST FedT farg o TS #7127 om 3T 81 om &, UF O 9 &7 & AT Tat 5443 om 31 59§ J=E A1d @4

Options:

1. % 5lcom
2. ¥ 7Zom
2% 53com

4 ¥ 5dcom

Question Number : 113 Question Id : 9662316127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& cylinder of radius 120 crm is made from a sphere of radius 60 cm. Find the height of the cylinder.

Options:



1. ® Scm
Z % 10cm
3. % 15cm
4 % 20cm

Question Number : 113 Question 1d : 9662316127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
120 crm & Hear &1 0w WeeEe 60 om =T & U Tie & a9 727 71 EesT & 3= J19 #4

Options:

1. % Scm
2. % 10cm
3. % 15cm

4 % 20cm

Question Number : 114 Question Id : 9662316128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the total surface area of the cylinder if the height is 70 cm and the ratio between the volume and the
curved surface area of the cylinder is 21:2.

Options:

1.9 12012 5q cm
= % B00E s5q cm
3. % 15015 sq cm
4. % 24024 5q cm

Question Number : 114 Question 1d : 9662316128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THET ®1 ol Adg 47 F1T FE Al FaTs 70 Crm g HT 0w TeST @7 Ao ) gATESR 90 &9 & i ® Sgud 21:2 81

Options:

1.9 12012 5q cm
2. % B00E 5q cm

3. % 15015 =g cm

4. % 24024 50 Cmn

Question Number : 115 Question Id : 9662316129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The table shows the distribution of the marks obtained by various students in a class. Find the ratio of the
nurnber of students getting 20 percent in Arithmetic and >80 percent in Grarmumar.

Marks out of 50
Subject 40 and 30 and 20 and 10 and 0 and
above above above above above
Arithmetic &0 180 480 540 600
Grammar 25 120 420 480 600
NS 42.5 150 450 510 600
(Aggregate)
Options:
1. % 1.3
z 5o
3. % 12:5
4 ® 31

Question Number : 115 Question Id : 9662316129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATTeAeRT U g B TeIierg ot T Wi alieet & Tdaeor & gafdt 81 oTaf &1 S%a7 & ST 19 @ S/ | 20 Tidad o
ST H >80 NiFaT 0T 44 51

40 3T 30907 (20 3% |10 307 | 0 3%
ey HUY | SO | HUT | UV

I 60 180 480 540 600

THI 0 25 120 420 480 600

frea
(qufarm) 425 | 150 | 4so | s | 600

Options:
1. % 1:3
2 ® oz
3. ¥ 125
4 % 31

Question Number : 116 Question Id : 9662316130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The pie chart shows the distribution of costs of making a water bottle. The company pays Es 50000 for
drawing water for 25000 bottles. What is selling price of 1 water bottle if the company earns 40 percent or the
COStY

Distribution of costs of making a water bottle

Options:

1. % Rz 25
2. % Rs 30
3. ¥ Rs 35
4, % Rs 50

Question Number : 116 Question Id : 9662316130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % o5 @y
2. % 30wy
3. ¢ 35 T
4. % 50wy



Question Number : 117 Question Id : 9662316131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The following chart shows the market share of exporting countries. If a country ¥ constitutes 40 percent of the

share of other countries and the quantity of exports by Country E is 9 million, find the quantity exported by
Country ¥

Market share of Exporting Countries

Options:

1. % 1.6 million
2. % 2 rmillion
% % 2.4 million
4. % 3.2 million

Question Number : 117 Question Id : 9662316131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e g Faiaw dof & TN Beaans & 4T a1 e 4o ¥ o ot & T5ed 7 40 nidad BearaaaT s o ST E grr
Terarta & AT 9 e &, 97 S ¥ T Fala & [ e T AT e

fatas 2t F1 Il e

Options:

1. % 1.6 e
2. % 2 e
3. % 24 W



4 % 22 e

Question Number : 118 Question Id : 9662316132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The bar chart shows the money annually invested in expenses in ks 1lakhs) from 2013-2018. The dwerdge
revenue generated in 2016-2018 is Bs 60 lakhs. The profit margin for 2019 is expected to increase by 10
percent more than the average margin of the last = vears. Find the projected profit margin for 2019,

80 - 72
Tl as -
| 40
el
- ) - 25
)

-E m E 15
rlﬂ*l
g o
= 2013 2014 2015 2016 2017 2018
Year
Options:

1. % 5.5 percent
2. % 15 percent
% ® 5 percent
4. % 567 percent

Question Number : 118 Question Id : 9662316132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A AR 2013-2018 & T (7Arg 7o ) e &g 0 em F afaT 31 2016-2018 # o009 3T Teg 60 A Ty 31 2019
& 1o o |Tie Towet 3 ot o sfted i & 10 uidae sifér ag- &1 Sriig 1 2019 % o argamiaa @ng a1ia S #4
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Options:
1. ¥ S E uidad
> % 1S uiguaT

3. % Soujdad



4 ® g E7 UdyT

Question Number : 119 Question Id : 9662316133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The histogram shows the cash reserves of a country (in § US million) from 2010-2011 t0 2017-2018. For all
the vears where the reserves have increased over the past vear, what 15 the average rate of increase?

JEERERES

Cash Reserves of a Country

o”#ﬁ'f?#’fﬁwfﬂf@fﬁf

Year

Options:

1. % 10 percent
2. % 15 percent
2. ¢ o5 percent

4, % 33 33 percent

Question Number : 119 Question Id : 9662316133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR 2010-2011 § 2017-2018 9% UF &4 (§ US WiEaT ) & T HS7 @ SAid71 81 T4 997 & o7 57 Uae UF a1
H rAd 9% T %, Thg @1 AT 2 T 87

R
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Options:
1. % 10 uigerT

= ® 15 gidad
3. 25 gt



4 % 33 33009

Question Number : 120 Question Id : 9662316134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR I 9 2014-2018 ¥ oy (Aieoa =Tew ® 2 2ot & Fais =1 gafar § Fees # 9 B ot #r g o o, 3 2 7
Tl WiT FAT 27

2014 2015 2016 017 2018

Options:
1. % 2014 2018

= ¥ 2016, 2018
= ® 2015 2017
4 ® 2014, 2018

Question Number : 120 Question Id : 9662316134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line chart shows the exports {in million dollars) of = countries for vears 2014-2018. For which of the
following pairs of vears, the total exports of 3 countries is the same?

e Country A = Country B === Country C

9000 -

M0 -
[l

= 1ok 4
=

2 6000 4
=

Y 5000 -
lll‘;

‘S 4000 -

£ 5000 -
2

W 2000 -
R

1000 -

n 4

2014 015 016 017 018
Year
Options:

1. % 2014, 2018



2. ¥ 20186, 2018
3% 2015, 2017
4 % 2014, 2018
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Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

Question Number : 121 Question Id : 9662316135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Zeneral Englishl

7
966231100
0

0
No
No
0
20
Yes
0

0

General English 1

966231215
1

Online
Mandatory
20

20

20

Yes

No

1
966231229
Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”

option.

&) Rahul released the| (B) brake and the car/ (C) slowly moved foreword. | (D) Mo error

Options:
1. % 4
2. % E
3.V C
4 % D

Question Number : 121 Question 1d : 9662316135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

A Bahual released the! (B) brale and the car/ () slowly moved foreword. | @) Mo error
Options:
1. % A
2 =B
2V
4 = D

Question Number : 122 Question 1d : 9662316136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

(&) At the age of twenty | (B) he entered the university and/ (C) studied English. | (D) No error
Options:
1. % 4
2. % B
I C
4 ¥ D

Question Number : 122 Question Id : 9662316136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "No error”
option.

i) At the age of twenty [ (B) he entered the university and/ (C) studied English. | (T No error
Options:
1. % A
z. % E
3%
4 ¥ D

Question Number : 123 Question Id : 9662316137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "MNo error”
option.

&) The gift should| E) arrived at vou/ () in three days. | (D) No error
Options:
1. % A
2 ¥ E
3=



4. = D

Question Number : 123 Question Id : 9662316137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "MNo error”
option.

(&) The gift should [ (B) arrived at vou/ () in three days. | (D) No error
Options:
1. %= A
2 ¥ E
3w
4 = D

Question Number : 124 Question 1d : 9662316138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "Mo error”
option.

(&) Did wou knew ) (B) how tof () speak French? | (D) Mo error
Options:
1.9 4
2 =B
=W
4 = D

Question Number : 124 Question Id : 9662316138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "No error”
Option.

(A1 Did you krew ) (B) howe tof (2) speak French? | (D0 Mo error
Options:
1. 4
2. % B
3% C
4 % D

Question Number : 125 Question Id : 9662316139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOV-.?iﬂg Staterment, one part of the sentence may have an error. Find out which part of the sentence

has an error and click the button corresponding to it. If the sentence is free from error, select the "MNo error”
option.

(&) Sachin was asked| (E) to repay the lone) (2) by the end of the weel | (D) No error



Options:
1. % 4
2. ¥V E
3% C
4 % D

Question Number : 125 Question Id : 9662316139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

&) Sachin was asked | (B) to repay the lone ) (C) by the end of the weel | @) Mo error
Options:
1. % 4
2 ¥ E
3%
4 % D

Question Number : 126 Question Id : 9662316140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

If I fam you), I would hawve told him everything.
Options:

1. % will vou

2. % arevou

2. weere you

4. % Mo correction

Question Number : 126 Question Id : 9662316140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segment correctly and cormpletes the
sentence meaningfully.

If I {@am vou), [ would have told him everything.
Options:

1. % will vou

2. % are you

3% were you

4 % Mo correction

Question Number : 127 Question Id : 9662316141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word segrment that substitutes replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

Shyarma is (addict of) smoking.
Options:

1. % addict in

2. ¥ addicted to

2 % addicted of

4. % Mo correction

Question Number : 127 Question Id : 9662316141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and cormpletes the
sentence meaning fully.

Shyvama is @ddict of) smoking.
Options:

1. * addict in

= ¥ addicted to

2 % addicted of

4. % Mo correction

Question Number : 128 Question 1d : 9662316142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sentence meaningfully.

The teacher asked if [ (knowing) the answer.
Options:

1. * knewing

2. % know

3. ¥ knew

4. % Mo correction

Question Number : 128 Question Id : 9662316142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segrment that substitutes (replaces) the bracketed word segrment correctly and completes the
sentence meaningfully.

The teacher asked if [ Fncewng) the answer.
Options:

1. # knewing

2. % know

3. ¥ knew

4 % Mo correction

Question Number : 129 Question Id : 9662316143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sentence meaningfully.

The robbers (ran away) in the jeep.
Options:

1. * running away

2. % run dowr

2% run away

4 % Mo correction

Question Number : 129 Question Id : 9662316143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

The robbers (rarn away) in the jeep.
Options:

1. * running away

2. % run dowrn

2% run away

4. % Mo correction

Question Number : 130 Question Id : 9662316144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word segment that substitutes replaces) the braclketed word segrment Ccorrectly and completes the

sentence meaningfully.

Fatirma (visits) the park every Friday.
Options:

1. * wisited

2. % visiting

2. % vl visited

4 % MNo correction

Question Number : 130 Question Id : 9662316144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the

sertence meaningfully.

Fatirma {wisits) the park every Friday.
Options:

1. * wisited

2. * visiting

2% will visited

4 % No correction



Question Number : 131 Question Id : 9662316145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

Thequiettoneof _________ that ran through the novel never degenerated into the maudlin or the overly
serntirnental.

Options:

1. ¥ pathos

2. % paucity
2. % pariah

4. % pellucid

Question Number : 131 Question Id : 9662316145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The quiet tone of _________ that ran through the novel never degenerated into the maudlin or the overly
senfirmnental.

Options:

1. % pathos

2. % paucity
2. % pariah

4. % pellucid

Question Number : 132 Question Id : 9662316146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Marsi burst tears after seeing her brother.

Options:
1. % at
2. ¥ into
3% on

4 % in

Question Number : 132 Question Id : 9662316146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Marnsi burst tears after seeing her brother.

Options:
1. % at

oW into
2% on

4 % in



Question Number : 133 Question Id : 9662316147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

Sirran _______ with us for the scholarship.

Options:
1. % cormrnitted

2. ¥ competed
= % Compared

4. % cormrmenced

Question Number : 133 Question 1d : 9662316147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Sirmran _______ with us for the scholarship.

Options:
1. % cormrmnitted

2. ¥ competed
2. % compared

4. % cormmenced

Question Number : 134 Question Id : 9662316148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The medicine will cure her ____typhoid.
Options:
1. % on
2. %in
3% at

4 ¥ of

Question Number : 134 Question Id : 9662316148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The medicine will cure her ____typhoid.
Options:
1. % on
2. %in
3 ® at

4 of

Question Number : 135 Question 1d : 9662316149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and completes the sentence meaning fully.

The Crirmearn war had just ______ out.

Options:
1. % wmas broke

2. % preak
= % broken
4. % breaking

Question Number : 135 Question Id : 9662316149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The Crimearn war had just ______ ot
Options:

1. % was broke

2. % bhreak

3. ¥ broken

4. % hreaking

Question Number : 136 Question Id : 9662316150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Manisha studied hard so thatshe _____________.

Options:
1. % could succeed

2. % could success
3. ¥ [Must SuCcess

4. % st succeed

Question Number : 136 Question 1d : 9662316150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Manisha studied hard so that she
Options:
1. % could succeed

2. % could success
3. ¥ TSt sUuCCess

4. % st succead

Question Number : 137 Question Id : 9662316151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The bool: was lying ____ the table.



Options:
1. %in
2. % at
2 ¥ on
4. % t0

Question Number : 137 Question Id : 9662316151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

The book was lying ____ the table.
Options:
1. ®in
2. % at
3. ¥ on

4. % to

Question Number : 138 Question 1d : 9662316152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

She offered a of excuses for her shortcormings.
Options:

1. % primeval

2. % portent

2. ¥ plethora

4. % prosaic

Question Number : 138 Question Id : 9662316152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

She offereda __________ of excuses for her shortcormings.
Options:

1. * primeval

2. % portent

3. ¥ plethora

4. % prosaic

Question Number : 139 Question Id : 9662316153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

The states of

P : secondary education
2 : Kerala and Tarnil MNadu
E : to their citizens

S provide free

Options:

1. # SPOR

2. % QSFR

= % POES

4 % SOPR

Question Number : 139 Question 1d : 9662316153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

The states of

P : secondary education
- Kerala and Tarml Nadu
E : to their citizens

S provide free

Options:

1. % SPOR

2. % O5FR

= % POES

4 % SOPR

Question Number : 140 Question Id : 9662316154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The questions below consist of a set of labelled parts of a sentence. Cut of four options given, select the most
logical order of the parts which form a coherent sentence.

For decades,

P : to play the deified
) - hawe been content
R goddess-glamdoll
5 Bollywood actresses

Options:

1. ¥ SQOFR
2. % PROS
2. % QSPR
4 % REQP

Question Number : 140 Question Id : 9662316154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

For decades,

P : to play the deified
2 : have beern conternt
E . goddess-glamdoll
5 . Bollywood actresses

Options:

1. % SOFR

2. % PROCS

2. % QSFRE

4. % RSCFP

eneral English2

Group Number : 8

Group Id : 966231101
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Question Number : 141 Question Id : 9662316155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

She was a crusader for the underdog, which made her work for the underpaid wormen and half-starved
children in Londorn.

F . & powerful advocate of 'free thought', she claimed to be a militant atheist,

2 : The first woman to publicly favour birth control, she is hailed as a pioneer by the feminists.

E : In India, her 'final home', she was accepted as an ardent nationalist.

S : Bernard Shaw and Beatrice Webb regarded her as the greatest Eritish worman of her time.

That was Annie Besant.

Options:

1. ¥ POSE
2 = SOFR
= = RIPOQ
4 = ORFS

Question Number : 141 Question 1d : 9662316155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have beenl jurmnbled up, and labelled F, Q, R and 3. Select the option that gives
the correct sequernce in which these sentences should be rearranged to form a meaningful paragraph.

She was a crusader for the underdog, which made her work for the underpaid wormen and half-starved
children in Londorn.

F . & powerful advocate of 'free thought', she claimed to be a militant atheist,

3 : The first woman to publicly favour birth control, she is hailed as a pioneer by the ferminists.

E : In India, her 'final home', she was accepted as an ardent nationalist.

S : Bernard Shaw and Beatrice Webb regarded her as the greatest Eritish worman of her time.

That was Annie Besant.

Options:

1. ¥ POSE
2 = SOFR
3. = RIPO
4 = QRFS

Question Number : 142 Question Id : 9662316156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that is closest in meaning (SYNOMNYM) to the word given below,

MALICE
Options:

1 %= Armndant
2. * Kindness
2 % Grudge

4 ® Agset

Question Number : 142 Question Id : 9662316156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning (SYHONYR) 1o the word giver below.

MALICE



Options:

1. % Abundant
= % Kindrness
3. ¥ Grudge

4, ® jooet

Question Number : 143 Question Id : 9662316157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that is closest in meaning (SYNOMNYM) to the word given below,

CAFTIVATE
Options:

1. ¥ Offend
= % Charm
3. * Lazy
4. % Tirmid

Question Number : 143 Question 1d : 9662316157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning (SYMNONYM) to the word givern below,

CAPTIVATE
Options:

1. % Offend
2. ¥ Charm
2. % Lazy
4 % Tirmud

Question Number : 144 Question Id : 9662316158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 opposite in meaning (ANTONYM) 1o the word given belomw.

FEEELE
Options:

1. ¥ Strong

2. ® Stumble
3. % Stirmulant

4. % Spuricus

Question Number : 144 Question Id : 9662316158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that is opposite in meaning (ANTOMNYM) 00 the word given below.

FEEELE
Options:
1. ¥ Strong



2. % Stamible
3. % Stimulant

4. % Spuricus

Question Number : 145 Question Id : 9662316159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 opposite in meaning (ANTONYM) 0o the word giver below,

CLAMNDESTIME
Options:

1. % Diffuse
= ¥ Legal

3. # Repel

4. % Regard

Question Number : 145 Question Id : 9662316159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that is opposite in meaning ANTONYM) to the word given below,

CLANDESTINE
Options:

1. % Diffuse
2 ¥ Legal

3. * Repel

4. % Regard

Question Number : 146 Question Id : 9662316160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning (SYHONYR) 1o the word giverl below.

COMNCEDE
Options:
1. # Lack

2. % Pure
3. % Perrnit
4. % Deny

Question Number : 146 Question Id : 9662316160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 closest in meaning (SYHONYM) to the word given below,

CONCEDE
Options:

1. % Lack
= % Pure

3. % Perrmit



4. % Deny

Question Number : 147 Question Id : 9662316161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options:

1. # Parsimoneous

2. # Parsimonos

2. #* Parsimonous

4 % Parsimonious

Question Number : 147 Question 1d : 9662316161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Parsimoneous
2. % Parsimonos
3. # Parsimonous

4. Parsimonious

Question Number : 148 Question Id : 9662316162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word,
Options:

1. #® Juridictonal

2 % Jurisdictional

3. # Jurisdictenol

4 * Jurisdictianal

Question Number : 148 Question 1d : 9662316162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. #* Juridictonal

2. ¥ Jurisdictional
3. #* Jurisdictenol

4. % Jurisdictianal

Question Number : 149 Question Id : 9662316163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,
Options:

1. # Emesculate

2. % Ermasculete



2. % Emasculate

4 % Ermacrulete

Question Number : 149 Question 1d : 9662316163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Emesculate
2. # Ermasculete
2. ¥ Emasculate

4. % Ermaculete

Question Number : 150 Question Id : 9662316164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or phirase giverl belosw,

To steer clear of

Options:

1. * To face criticism

Z % Toavoid something
2. # Tobeindanger

4. % To punish sormeons

Question Number : 150 Question Id : 9662316164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or plirase giverl below,

To steer clear of

Options:

1. ® To face criticism

2. % Toavoid something
2. % Tobe in danger

4. % To punish sormeons

Question Number : 151 Question Id : 9662316165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

Erought to baok

Options:

1. ¥ To punish someons

2. % Totry hard to achieve something
3. % Tobe angry with somecne

4. % Tobe patient



Question Number : 151 Question Id : 9662316165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or plirase giverl below,

Erought to book

Options:

1. ¥ To punish someons

2. % Tobe angry with somecne
3. % To e angry on someone
4. % Tobe patient

Question Number : 152 Question 1d : 9662316166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase given below.

To see red

Options:

1. % To guess right

2. * Tobag the first position
2. % To find fault with

4 9 Tobe angry

Question Number : 152 Question Id : 9662316166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase giverl below.

To see red

Options:

1. % To guess right

= % Tobag the first position
3. ¥ To find fault with

4. ¥ Tobe angry

Question Number : 153 Question Id : 9662316167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIessions giverl below,

An exclusive circle of people with a common purpose
Options:

1. % Clague

2. ¥ Clique

3. # Brood

4. % Bale

Question Number : 153 Question 1d : 9662316167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate 'one word ' for the expressions given below,

An exclusive circle of people with a common purpose
Options:

1. * Clague

2. ¥ Clique

3. * Brood

4. % Eale

Question Number : 154 Question Id : 9662316168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

The art of effective or persuasive speaking or writing
Options:

1. ® Compere

2. % Odontology

3. ¥ Rhetoric

4. % Dactylology

Question Number : 154 Question Id : 9662316168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word ! for the EXPIessions giverl below,

The art of effective or persuasive speaking or writing
Options:

1. % Cormnpere

2. % Odontology

3. ¥ Ehetoric

4 % Dactylology

Question Number : 155 Question 1d : 9662316169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

A& form of government in which power is held by the nobility
Options:

1. % Aristocracy

2. % Autocracy

2. % Gerontocracy

4. % Kakistocracy

Question Number : 155 Question Id : 9662316169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate 'one word ' for the expressions given below,

& form of government in which power is held by the nobility



Options:

1. % Aristocracy
2. % Autocracy

2. % Gerontocracy

4. * Kakistocracy

Sub-Section Number: 2
Sub-Section 1d: 966231231
Question Shuffling Allowed : Yes

Question Id : 9662316170 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cestion Label | Comprehiension

Read this passage carefully and answer the given questions.

e day, a high surmmer flood washed a mongoose out of the burrow where he lived with his father and
mother, and carried him, kicking and clucking, down a roadside ditch. He found a little wisp of grass floating
there, and clung to it till he lost his senses. Whern he revived, he was lying in the hot sun on the middle of a
garden path, very draggled indeed, and a small boy was saving, "Here's a dead mongoose. Let's have a
funeral." "No," said his mother, "let's take hirm in and dry him. Perhaps he isn't really dead.” They took hirm into
the house, and a big man picked him up between his finger and thumb and said he was not dead but half
choked. 5o they wrapped him in cotton wool, and warmed him over a little fire, and he opened his eyes and
sneczed. "Tow," said the big man e was an Englishman who had just moved into the bangalow), "don't
frighten hirm, and we'll sea what he'll do." It is the hardest thing in the world to frighten a mongoose, because
he is eatenn up from nose to tail with curiosity. The motto of all the mongoose family is "Run and find out," and
Rildad-tikld was a true mongoose. He looked at the cotton wool, decided that it was not good to eat, ran all
round the table, sat up and put his fur in order, scratched himself, and jurmped on the srmall boy's shoulder.
"Don't be frightened, Teddy," said his father.

Sub questions

Question Number : 156 Question Id : 9662316171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mongoose was living with his

Options:

1. ¥ rmother
2. % brother
2% enemy

4. % friend

Question Number : 157 Question 1d : 9662316172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mongose lost his senses

Options:

1. ® after the summer flood

2. % after clinging on to the floating grass
2. % after lving in the hot sun

4. % after clinging the floating grass



Question Number : 158 Question Id : 9662316173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat did the boy think when he first saw the mongoose?

Options:

1. % The mongoose was dead

2. % The mongoose was half cholked

2. % The mongoose was lying unconscious

4. % The mongoose was happy

Question Number : 159 Question Id : 9662316174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The boy and the big man wrapped the mongoose in

Options:

1. % silk

2. ¥ cotton wiool
2. % leaves

4 % woollen clothes

Question Number : 160 Question Id : 9662316175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why is it hard to frighten a mongoose?

Options:

1. ® They can jump everywhere
2. % Thev are very fast

2. % They are very CUrning

4. % They are very curious

Question Id : 9662316170 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cesticn Label | Comprehension

Read this passage carefully and answer the given questions.

One day, a high surmmer flood washed a mongoose out of the burrow where he lived with his father and
mother, and carried him, kicking and clucking, down a roadside ditch. He found a little wisp of grass floating
there, and clung to it till he lost his senses. Whern he revived, he was lying in the hot sun on the middle of a
garden path, very draggled indeed, and a smmall boy was sayirg, "Here's a dead mongoose. Let's hawve a
funeral " "MNo," said his mother, "let's take him in and dry hirm. Perhaps he isn't really dead." They took him into
the house, and a big man picked him up between his finger and thumtb and said he was not dead but half
choked. 5o they wrapped him in cottor wool, and warmed him over a little fire, and he opened his eyes and
sneezed, "MNow," said the big man (e was an Englishrman who had just moved into the bungalow), "don't
frighten hirmn, and we'll see what he'll do." It is the hardest thing in the world to frighten a mongoose, because
he is eaten up from nose to tail with curiosity. The motto of all the mongooese family is "Fun and find out,” and
Rilda-tikld was a true mongoose. He looked at the cotton wool, decided that it was not good to eat, ran all
round the table, sat up and put his fur in order, scratched himself, and jumped on the small boy's shoulder.
"Don't be frightened, Teddy," said his father.

Sub questions

Question Number : 156 Question Id : 9662316171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The mongoose was living with his ___________.
Options:

1. ¢ mother

2. % prother

3. ® enemy

4 # friend

Question Number : 157 Question Id : 9662316172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mongose lost his senses ________________.
Options:

1. % after the summer flood

2. % after clinging on to the floating grass

= ® after lying in the hot sun

4. ¥ after clinging the floating grass

Question Number : 158 Question Id : 9662316173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat did the boy think when he first saw the mongoose?

Options:

1. % The mongoose was dead

2 % The mongoose was half cholked

Z. # The mongoose was lying unconscious

4. % The mongoose was happy

Question Number : 159 Question Id : 9662316174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The boy and the big man wrapped the mongoose in

Options:
1. % silk

= % cotton wool

2 #® legves

4 % yoollen clothes

Question Number : 160 Question Id : 9662316175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why is it hard to frighten a mongoose?

Options:

1. # They can jump everywhere
2. % They are very fast

%. % They are very Cunning

4. % They are very curious



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

General Hindil
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966231102
0

0
No
No
0
20
Yes
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Feneral Hindil

Section Id : 966231217

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 966231232
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9662316176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeET ng §, ow Sweul § 9, 39 [9@e0 &1 a9 ¢ A7 o 77 3o, &1 951 900 &0 9147 9@ 5h

Lz

Options:
1. % 7
2 ¥ Uy
% ogT
4 ® g

Question Number : 161 Question Id : 9662316176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng H, oW et # 9, 39 Hwed @ 909 @ S 150 T 9=g F7 51 o60d &7 JTaT (9@ 5

)

Options:
1. % ®=
2 vy



3 % gy
4 #

Question Number : 162 Question Id : 9662316177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TamET v §, o Heent § 8, 39 fSeen &1 94= & 91 50 T feg %7 @51 dad & aTaT dwed 5

LEEa

Options:
1. v g
2. % §d
3 %t
4. % @

Question Number : 162 Question Id : 9662316177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng H, O Seedt § 9, 39 [9wew 31 =4 o A1 0 T e @ 95T T8 ©F a1 fHeed 5

T

Options:
1 ¥ g
2. % |
3 %o
4. % @

Question Number : 163 Question Id : 9662316178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg , ox et # € 39 Beey @7 50T w1 S IEarEes G 6 951 Heed 8

Options:
1. ¥ waTiieg

o B g
3 ® e
4 ® mEmET

Question Number : 163 Question 1d : 9662316178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrfeiaT ng #, ow Oweat § 7, 39 [99eT =7 o2 =6 AT IiaaTerd 91 %1 951 fo@ed o)

Options:

1. wried
2 ® whe

3 % fee
4. % FHMAET

Question Number : 164 Question Id : 9662316179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tty va /. ox Seedt 8 9, 39 Swey @1 099 o St @ise # 50 77 g, & Sdr da-r o 9 # aR 1 deed gh
(FH1E) FSH T BT I

Options:

1. ¥ OgeEmEd gaam
2. ¥ ST e
3. ¥ mETE® doqre

4. % T aEE AeaH

Question Number : 164 Question Id : 9662316179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt v #, ox Beedt 8 9, 39 Swey #7099 o5 S @iew § T 77 e F R daarg & 98 FT ag 1 deed g

(1) FS® UTE e S
Options:

1. % FeEEe Fe-m
2. ¥ arieEaEEE a9
3. ® qodE qea

4, ¥ Tpgg IR=F G-

Question Number : 165 Question Id : 9662316180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TawET g §, IR et § 4, 39 owey @ o2- w1 e ee § 79U 17 Jeg & argan Tehdwor & 98 a1 fowed g

T T o BT (e ghe A
Options:

1. & gegqrams

2 % girrEE

3. ¥ TEREE
4. % qre-THE

Question Number : 165 Question Id : 9662316180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty v §, ox Seedt 0 ¥, 39 Swey @7 o9 o 1 @isw # oy 77 e & g e @ g gt fowed g

T TyT oF IF o1 (e ghy & 8
Options:

1. ® gegmEms

2 ® i

3. ¥ TUETEE
4. ® HrEfATHE

Question Number : 166 Question Id : 9662316181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg # ow Awedt § 9, 39 ey @ oaq @ S 150 T Seg, F Taiaame Seg %7 50 [deed "51 8l

EE



Options:
1. ® gidu
o ® TREE
3 VIR
4 % Fiaw

Question Number : 166 Question Id : 9662316181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET vg # or et # € 39 Been o1 229 @ 1 iy 70 geg % uaiaart g @1 @Rt e 51 8

FF
Options:

1. % Fidmr
2 % fpke
39 T

4 % Fiw

Question Number : 167 Question Id : 9662316182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET wg §, o Teen #§ °, 39 See @7 =9 o A1 150 M7 Seg & giaaTeT Meg &1 A1 dwed Tg1 5l

Options:

1.9 Faw
o ® gugd
Z % gl
4 % SEe

Question Number : 167 Question Id : 9662316182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng |, oW wedt § 9, 39 [Hwed &7 949 B¢ 91 150 T e F Taiadme e &7 @51 [dwed "51 a1

Options:

1.9 Faw
Z. % gugd
3 % gl
4. % s

Question Number : 168 Question Id : 9662316183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or Teet # 9 39 B &1 909 3 1 iy 70 g & TTEW seg @ @t Heed B

Options:
1. % iy



2 ¥ TR
z % e
4 ® Tyt

Question Number : 168 Question Id : 9662316183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeT v #, o Sweul § 9, 39 [9we0 &1 =909 ¢ A1 o0 M0 s & oA Jeg 91 951 9@ 21

ATl
Options:

1. % agfey
= ¥ JEr
3 % e
4. ® et

Question Number : 169 Question Id : 9662316184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg  or Teet # 9 39 Twen o1 909 6 A1 By 7Y g=g & TA geg 9 @5l [Heed 8

T
Options:

1. ® 74
= % g g
= % g
4. ¥ Iy

Question Number : 169 Question Id : 9662316184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, o et § §, 39 Seen o1 =709 o A1 G0 0 see & TR a=g @ anr Hwed 2

g
Options:

1. % @qHn
2 % gmE
= % g
4. ¥ Iy

Question Number : 170 Question Id : 9662316185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeaT va /. ox Swed! § ¥, 39 951 Dawy &7 go- = 91 iy 77 Jeg-gm & anf @ gt foweT g

Options:

1. % FmaT o Agar
2 & oizT o BEal
% % T=ET i HRel



4, % 37 oK HgEr

Question Number : 170 Question Id : 9662316185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeRaT na 8, o el § 4, 39 Tl fowed ®1 90 B¢ AT 107 T Seg-J & o7f %7 Fal fowed 20

Options:

1. % Faray o vgar
5 oizT S FEaT
3. % T BT HRar
4 % 3 e HEET

Question Number : 171 Question Id : 9662316186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg H or et # 9 79 Twen o1 o0 @ A1 Ty Ty aeiy & T Ow =g @ el e 8

el FF AT AT
Options:

1. % wefgwT

2. % FdarAT
3. % gy

4. v T

Question Number : 171 Question Id : 9662316186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng ¥, O Teent § |, 39 Seen o7 94" o S S0 0 a1eany & 90 UF geg F ant A 8

el FF AT AT
Options:

1. % wefgrT

2 % wdamT
z. % gy

4 & FEia

Question Number : 172 Question Id : 9662316187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR mg #, oW Awedl § 9, 39 A5l [dwed &7 90 B¢ A1 106 w09 & o] IR 0weT g

Options:

1. % gieEmm
2. % gmm
2% qumH
4. gy



Question Number : 172 Question Id : 9662316187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg  gx Teet # € 39 987 Been &1 909 w6 A1 e wre & T R Ewe gn

Options:

1. ® gieamor
2. % g

=% HuH

4.« gioomy

Question Number : 173 Question 1d : 9662316188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng # o Bwedt § 9 39 Swen @7 a9 & =t =y 7 seg & aamedt geg @ Bwew a5t 8

T[T
Options:
1. % g
2. % A
3. ¥ Fair

4. % g

Question Number : 173 Question Id : 9662316188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng H, oW Hwedt § 9, 39 Towed @1 999 @ A1 150 7 seg & aATEd deg @ Haed T51 o)

AT
Options:
1. % a4
2. %
3 ¥ 3
4. % AT

Question Number : 174 Question Id : 9662316189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateaT v , IR Ewed! 8 9, 39 951 [Dwed &7 I B A1 T w0 F 00 SUg® Jeg T 951 [y Bl

Options:

1. % i
o % gzd
3 v R
4 % g

Question Number : 174 Question Id : 9662316189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



ot v #, ox Seedt 8 ¥, 39 951 Daey &7 go- w1 Tos w0 F o0 Suaw Jeg #7951 [deed gl

Options:

1. % e
2 % g
3 ¥ Zd
4 ® g

Question Number : 175 Question Id : 9662316190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferadT v #, o Swedt § 9, 39 fowed #7909 #% ST O Teg &1 951 ey 2

Options:

1. % freag®
2. ¥ g

2 ® feogigamdt
4. ¥ fregtaed

Question Number : 175 Question Id : 9662316190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THmET vg H, ox Hweat # €, 39 Twew o oad B A1 OF T8 F1 95 0wed o)

Options:

1. % fegoge
2. ¥ Teeage
3 ® frogioamdt
4 % Tyoufedt

Question Number : 176 Question Id : 9662316191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TEETET 7 §, I feeul § 9, 39 Towed &7 =2 @ 51 qaT Qe 9l 968 3

Options:

1. % o
2 o G
3. % Tt
4 % gt

Question Number : 176 Question Id : 9662316191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TamET vg 8, ox Hweut # €, 39 Teew o oad & S G957 Jieat areT 965 8

Options:

1. % g@e
2 ¥ G
3 % mor
4 % gt



Question Number : 177 Question 1d : 9662316192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeET ng o o Beedt § & 39 Swew @1 a9 o A1 2w 0 st @ ST ge g Heew 3

T
Options:

1. & qoieaT
2 % FoEiEHr
3. ® guedsr
4. % guEm

Question Number : 177 Question Id : 9662316192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng ®, oW Awedt § 9, 39 THwed @ o0 & 91 130 T Seg 37 Sia feg 91T oo 8l

T
Options:

1. ¢ quieaHt
2 ® goEidHr
3. % guEr
4. % guEm

Question Number : 178 Question Id : 9662316193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v §, I Teen #§ °, 39 Swe #7249 5 A1 U g &1 Jad SFaT ST gl

Options:
1. % zdw
2 ®q
3 % Zat
4 & wET

Question Number : 178 Question Id : 9662316193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TafeET ng #, o Seeul § 9, 39 [9we0 &1 =909 &t AT Uhaae Seg @1 9ay9 28T 0% 8]

Options:
1. % g
2 %
3 ® g
4 & wET

Question Number : 179 Question Id : 9662316194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tl nd o, o deedt § &, 39 fSwer @7 a9 w9 18 17 6T & agaa qeg F He seuT ey gl
e

Options:

1. gigar
2 % gimt
3 % gt
4 % gigat

Question Number : 179 Question Id : 9662316194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateTET wer #, I et # 8, 39 Towey &7 20 % S I8 70 958 & aga deg B d6d sk fHwe 3]

g

Options:

1. gigat
2 % et
3 % g
4 % gzt

Question Number : 180 Question Id : 9662316195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T g §, IR et § 9, 39 Swey @7 o2e % A1 wivd 8 90 M7 95 & Srar TedT [ENaTe® Ga-TT 6 a5 owed gh
Options:

1. % (o o § AT & 2 8

2 ¥ (30 YIT Aeg w4l Al Ay
z. % (0 moOE! @ AEg O B E gl
4, ¥ (FE) FE G A W AT TRAT )

Question Number : 180 Question Id : 9662316195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeaT va /. ox Swedt § €, 39 Swey @7 099 o St @isw # 50 77 g, & Sdr A2y [EuaTa® So-T & @1 fowed 51
Options:

1. % (guh o § TTAT @7 2 B

2. ¥ (IO G AeE At g A
3. ¥ (A mitat & veg F & aE
4, % (I HY G0 Ter wT AT TR 2

Feneral Hindiz

Group Number : 10

Group Id : 966231103
Group Maximum Duration : 0

Group Minimum Duration : 120
Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

general Hindiz

Section Id : 966231218

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 966231233
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9662316196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng §, o Sweul § 9, 39 [9wew &1 =49 ¢ A1 To0 0 a1 o Fd & 98 @6 a1 d@ed 5

AT AT Y Feak 31T T 21
Options:

1. ® Fqed 7S Y@

2. ¥ aay JawTe

3. % amuf T

4 % RS Wi F1a

Question Number : 181 Question Id : 9662316196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr et # 4 39 Teew #7209 @ 1 Ty T a1 & w1 o 95 @ Gl dwed g

ATAT AT HE ey 27 7 21
Options:

1. * pdpd 0g gaaTe

2. ¥ Wag qawT

2. ® syl sggeRTe

4 % PARqus Widwd e

Question Number : 182 Question Id : 9662316197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TateET vg #, o Bweat § 9, 39 Pwen @1 a9 w6 =1 =g my aer & g g o A @ we et Heed 3

JH T THA T 5T
Options:
1. % foreaef

2 % gt
= o Hagml
4 ® gt

Question Number : 182 Question Id : 9662316197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng H, oW et § 9, 39 Hwed @7 a9 & A1 150 M7 ane & 00 g 3 9 97 dae ST OwmeT 3

IH T T8 T ST
Options:
1. % Tereepef

2 % g
z. o magmf
4 8 Toegaref

Question Number : 183 Question Id : 9662316198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW Hwedt § 9, 39 THwed @ g & S 150 T are & 0wy & 9 9 T aRET e B

TTTel T T & dT g T TgT &
Options:

1. % | EvErd®

2. % raaEig®

3. ¥ midenas

4. ® FEEETE

Question Number : 183 Question Id : 9662316198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TacRET ng #, oW eed! # 9, 39 ey @1 909 & S 150 70 a1 & o0 0y & A 9 Fe aRET e )

TTeATel T WI=T &1 1 7 TET &
Options:

1. % \avIer®

2. % TegawEias

3. ¥ mideas

4. ® FEEIEE

Question Number : 184 Question Id : 9662316199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T et & & Tamgar o uitad s @1 fawey giam
FHI BT ATea o T (=)

Options:

1. % =y Aew gA
2. ' g Arew g
% % Ale@ A o
4 % e B EHT oEr

Question Number : 184 Question Id : 9662316199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T faeredt # & TS amgaw e uivad 1 @ fdwed gi=m

FAT BRI ATear a1 T (Fd area)

Options:

1. % 3T ae® gAT
2. ¥ THS A o
3. % qEw gA- 2Er
4. ® qEw @ gHS 29T

Question Number : 185 Question Id : 9662316200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # gr et # 4 39 e o7 90T @ S 98T Gy 9 ®7 Hwed g

EEAELEH KIS ]

Options:

1. % fipram

2 & Tgm g

3. % frEmEe T
4. F HH deg

Question Number : 185 Question Id : 9662316200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg §, o THeent § 8, 39 e @1 =4 & S 9y 1 a1 9 &7 fSwe g

EEEREH KA ]

Options:

1. % fipramg

2 ¥ Tgm aEd

3. % frEmEe e
4. ® W aeg

Question Number : 186 Question Id : 9662316201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tt ng § o Bwedt § & 39 Swew @7 a9 o A1 "5t a9 9 @7 Heer g

HET ATAT A O O A5 1 21
Options:

1. % Hgm g

o % Ty

% % gigdmEw e

4 & O

Question Number : 186 Question Id : 9662316201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiaT ng |, ow Oweat § & 30 9wy &1 o099 & A1 951 a9 dg @7 [dwed g

HET ATAT A O O AR 1 21
Options:

1. % #Hgm g

o % TEramEg

3. ¥ HigdmEd aEg

4 & g I

Question Number : 187 Question Id : 9662316202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfeiaT ng | ow Owedt § 7, 30 9wy 1 o9 o AT 95t a9 98 #7 TweT g

T Gl B UEST, AT o] I e AT 5T 31
Options:

1. % {eramad g

2. ® {OA g

3. o T g

4. % FIH FET

Question Number : 187 Question Id : 9662316202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng & aw et § 9, 39 Heew @1 209 ¢ 91 931 a9 95 #7 @7 50
T ol FUHST, AT S I H A AT TG 8

Options:

1. ® {eradmd ameg
2. ® {ed g

3. ¥ T

4. % ggm GEd

Question Number : 188 Question Id : 9662316203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty v #, o Bwedt # €, 39 Twe @1 o9 = A1 fOem g g% 9199 @7 9l HweT &1

Options:



1. & B Qe ST a5 FUN d )
2. % & e ST I RL TUR A g
3. % 8 O ST d gL U e g
4. ® F Qe ST T AR - FUE FH S D)

Question Number : 188 Question 1d : 9662316203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot va . ox Bt § 9, 39 Swey @ o9 = 1 foom g g% a9 @7 ag! e gn

Options:

1. & # g ST T R, TR FH S )
2. % 0 i ST T L TR 5 G
3. % & e ST o AR T e g
4. % T g ST T R 1- FU B G G)

Question Number : 189 Question Id : 9662316204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T na #, or Beedt § 9, 39 e o1 o9- = =1 fovm g 3% o @7 |gt HweT En

Options:

1. % AT HTCT @1 i 14 awmed, 1990 H garar?
2. % FHRT SHRT @7 AT 14 armed 1990 # garan

3. % gAT SATGT @7 AT, 14 enTed, 1990, # peam
4. ¥ ZHRT SHRT 7 AT 14 s, 1990 # gamam

Question Number : 189 Question Id : 9662316204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot va . ox Bt § 9, 39 Swey @ o9 = 1 foom g g% a9 @7 ag! e gn

Options:

1. % FARTEART ®7 FHIT 14 armed, 1990 H s 217
2. % gHTL GATGT 7 (A1 14 srmed 1990 | gam o

3. % gHRT SART @7 A, 14 srmed, 1990, # guran
4. ¥ G SATGT 71 A0 14 SrEd, 1990 # e am

Question Number : 190 Question Id : 9662316205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va #, ox Beedt 8 9, 39 Swey #7099 &% 91 fou 7y geret & o agt arf gt Seer 3

It F H AT
Options:

1. & Fw TG
2 ® g

3. ® JEE @Al
4 ® 0 ETHET

Question Number : 190 Question Id : 9662316205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TafeT v, o Swedt § €, 39 owed #7939 3% A7 150 7 geTay & wy agt arf arar Heed g

JTAT T H AT
Options:

L. & g g1
2. ® gda

3. ® JE WA
4. % Zi AT

Question Number : 191 Question 1d : 9662316206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

EECAGE]E

Options:

1. % SR =k

2. % TepeT T w AT
3. ¥ Fgd ®e

4. ® g R

Question Number : 191 Question Id : 9662316206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va #, ox Beedt 8 9, 39 Swey #7099 &% 91 fou 7y geret & o agt arf gt Seer 3

EEHGED

Options:

1. % J&w =g

2. % Topet T w ARl
3. ¥ T @

4, ® e

Question Number : 192 Question Id : 9662316207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e v . o Ewedt 8 9, 39 ey %7 o3 3 7 150 7 geTa & oy |gt arf arar Hewed 2

e = =T

Options:

1. % Zar o aremef

2. ¥ FE JUTT TA T AT
Z. ® gEW e

4. % grEraEar

Question Number : 192 Question 1d : 9662316207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Tty va /. ox Swedt 8 9, 39 Swey @1 099 o 9 fou 7 gerat & o |gt arf arar Hwe 2

e o =T
Options:

1. ¥ gor # argmef

o, & IE JUTT A T AT
3. ® S i

4. % grraaAr

Question Number : 193 Question Id : 9662316208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fHwed! § 9, 39 Towed &1 909 T 1 ol T8 A s & o] Tn1 arf aTar e 8

T HT AT Foel T G AATGIT
Options:

1. % arpiTET T

2. ® PE Tywm A EET

3. % oI @ U uSAT

4. V' ST EHTE, TE B BT TR

Question Number : 193 Question Id : 9662316208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET vg # gr et # 4 39 ey @7 209 @ S 3T TE AreiiE & T aer erf arer Hee 2

= W AT Tl T G FATIIT
Options:

1. ® arimar BT

2 % P TyE AT

%, % I w O 0SAT

4 & ST FF TS, T 51T 51 TaT]

Question Number : 194 Question 1d : 9662316209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng | o Bwedt § & 39 Swew o7 =4 o A1 31 e Atw it & T agt anf amer Beer 2

ST & ST AAT

Options:

1. % pw e & 3y

2 % JEEE AT

3. T o5 o WEa] & 3T w1 AT

4 B Fedoed ! wH T

Question Number : 194 Question Id : 9662316209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng #, oW fHwed! § 9, 39 Towed &1 909 T 1 ol T8 A s & o] Tn1 arf aTar e 8

S T AT



Options:

1. % o THel @1 3y

2 ® JEE EEm

3. T o3 WEaT § FT W wAT

4, R Fedoed | W HAT

Question Number : 195 Question Id : 9662316210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng & ow et § 8, 39 987 [9wed @7 =9 &€ 1 31 T2 At & og agr aref amr ey 2
gt Tt T, GH YR T

Options:

1. % empg HTET

2. & SIIET-AT Gt O AT
3 % 7 OF 519 B a9 AT
4, ¥ &7 = srET W

Question Number : 195 Question Id : 9662316210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET vg §, o THeent § 8, 39 9el W @ e @ AT 51 T8 Ald e & oy a1 awf e e 8

Tt o T, QR TE

Options:

1. % s #TgAT

2. & SIET-A7 91T 75 AT
3. ® 7 g pid B &9 T
4, ® &7 T sRaT W

Sub-Section Number: 2
Sub-Section I d: 966231234
Question Shuffling Allowed : Yes

Question Id : 9662316211 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cesticn Label | Comprehension

Tl Ty T TR T e ud oI ey T Tatad Joe 2

=TS AT T T THET T TET 71 AT agd 1 HeME @ aie | T FHET THT 5 AT aeg it & Z1A fod-
%a@gﬂﬁ%%ﬁ?ﬁw—wﬁamd mﬁdlgmﬁluﬂlmtﬂlﬁ%&% 3 g&ﬂ%mﬁ%%mﬁ
T 21 WETTE o TAH ST SIad O § S ¥ T A5 o hel F wEl S A F1E AT Teq A # o T 0T Iuee T g
RIS ] Weddr ol AT o1 WL T SR S 12 @1 d8g @5 P T51 5, SHRT HoUTs ! WA Sl & Heddeh 85 0T 03 T57 31 \eh
AT O SIcaTa el 5 15T 81 SI0 o & fog A o eife, AT a7 Aid® A-ad1] Ui g A1 3 oK 9eew @

ATARITAT 51 SATaT 21 refarmey & wrear & T afe foweft e <1 61T Ieume= & arferer 51 91 graf § s &0 & gig 51 4T 8]

Sub questions

Question Number : 196 Question Id : 9662316212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
ST WETE A gt 27

Options:

1. % ggmfd

2  gur o

3 % o=

4 % Jure

Question Number : 197 Question Id : 9662316213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR & 24 T F -7 STl STATT 757 37
Options:

1. % gorheE

2 ® TeATdw

3. s

4 % JfFw

Question Number : 198 Question Id : 9662316214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
arefaTTer & SIgER HRTTS 1 10T 47 27
Options:

1. % Fourea o artder @i

2 % AT arfdd Jeaed

3 ® effw Awaam

4 ® yEEATEE ga

Question Number : 199 Question Id : 9662316215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR | B - AT SHTEd #7 WA deg 77
Options:

1. % gd

2. ® &g

3. % 9ET

4. ¥ mET

Question Number : 200 Question Id : 9662316216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TH Ageis 1 PIE SUgH dw-
Options:

1. % e

2 ® apfare

3. v wmg
4 % FATFNT




Question Id : 9662316211 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Juestion Label - Comprehension

Tl TemT T TR B e O $f1 We W Fa iy ot o)

AEEIRE T T GHET T TET 51 AT F5d1 HeME @l ame | T AHST FHT 51 ATTAT I aeg it & 217 faa-
%%%ﬁm—waﬁwmmmm@% 3 g&ﬂ%ﬂﬁwﬁ%%mﬁ
T 21 RIS 3 TRHH SR SeRT © & ST ¥ UG AR thel o g1 @ 87T IS T areq A # @ed gIAT 0T Juee A5l &
HTST BT Hedieh el AT ol HIE 1 SR Sfd 2 i 988 @5 B 451 5, SHHT G uTR | WA wiie o Hedd 45 0T U T5T 51 Sl
AT O SIcaTed el 5 T5T 51 SI0 o & fog @it o e, AT a1 Aidw J-aan] i g A1 3 oK e @

TIFAATAT 51 AATaT 51 Srefares & AT & o afe et aeq &1 /i IeumeT & srfer gf 7f gral | TarTic® ®F & Jhy 57 A1 2]
Sub questions

Question Number : 196 Question Id : 9662316212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST WETE & 7 gt &7

Options:

1. % gEmmid

2 & \qWT T

z ® N

4 % Jure

Question Number : 197 Question 1d : 9662316213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ARTTE & 47 T P I=—T & 1= STHIT T5T &7
Options:

1. % |

2. ® {ETdw

3. et

4 & Afdw

Question Number : 198 Question Id : 9662316214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2pfaITET o SIJER HETTE 1 HROT 47 57
Options:

1. ¥ FouTed & arfeer ar

2 % gim# artde IoumeT

3. % erifw AT

4 % yrATEw T

Question Number : 199 Question Id : 9662316215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THH | I - AT SMHTEd #1 He i aeg 57
Options:

1. %57

2. % o7



3. % AT
4. g

Question Number : 200 Question Id : 9662316216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
59 ey 1 PG UG dtw-
Options:

1. % yrEmw

2. ® apfame

3. ¥ mmg
4, ® FHFERT




